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Monday, January 16, 2012


--- On commencing at 1:06 p.m.

MS. TAYLOR:  Please be seated.

Good afternoon.  I've already said, "Please be seated."  My name is Karen Taylor, and sitting with me today is Marika Hare.

The Board has convened today on the matter of an application filed on September the 6th, 2011, by Union Gas, seeking an order of the Board approving or fixing rates for the distribution, transmission and storage of natural gas effective January 1 of 2012.  The Board assigned File No. EB-2011-0025 to this application.

The Board issued notice of application and hearing on September the 15th, 2011, and Union Gas filed evidence and a draft rate order in support of its application also on this date.

The final issues list for this proceeding was set out in Procedural Order No. 2 issued on October the 20th, and a settlement conference was held on November 1, 2011.

A partial settlement agreement was filed with the Board on November the 9th, and the partial settlement agreement was accepted by the Board on November the 14th.

The partial decision and order issued by the Board allowed rates to be implemented January 1st of this year.  In that partial decision and order, the Board set out that the unsettled issues would be heard at an oral hearing on January 16th, being today, and continuing on the 17th, if needed.

The Board has thus convened to hear the four issues that were not resolved by the settlement process.  Issue number 4:
"Is the treatment and amount proposed for the Cross Bore Safety program appropriate?


Issue number 8:
"Is it appropriate to establish the Transition to USGAAP – Pensions Deferral Account?"


And issue number 10:
"Is it appropriate to discontinue for 2012 the Long-Term Peak Storage Services Deferral Account?"


Lastly, issue number 12:
"Are the proposed changes to the wording for the Late Payment Penalty Policy in Union's Rate Schedules and Customer Bills appropriate?"


And with that being done, may I have appearances, please?

Appearances:


MR. SMITH:  Good morning -- good afternoon, members of the Board.  My name is Crawford Smith, counsel to Union Gas.  With me to my left is Chris Ripley from Union Gas, and to my right Mark Kitchen, also from Union Gas.

MS. TAYLOR:  Thank you.

MR. BRETT:  Good afternoon, Madam Chair, members of the Panel.  My name is Tom Brett, and I'm here representing the Building Owners and Managers Association of Greater Toronto.

MS. TAYLOR:  Thank you, Mr. Brett.

MR. SHEPHERD:  Good morning, Madam Chair.  My name is Jay Shepherd.  I represent the School Energy Coalition.

MS. TAYLOR:  Thank you.

MR. THOMPSON:  Yes, Madam Chair.  Peter Thompson for Canadian Manufacturers & Exporters.

MS. TAYLOR:  Mr. Thompson.

MS. GIRVAN:  Julie Girvan, Consumers Council of Canada.

MS. TAYLOR:  Thank you.

MR. QUINN:  Dwayne Quinn on behalf of the Federation of Rental Housing Providers of Ontario.

MS. TAYLOR:  Mr. Quinn.

MR. GRUENBAUER:  Good afternoon, Madam Chair.  Jim Gruenbauer for the City of Kitchener.

MS. TAYLOR:  Thank you.

DR. HIGGIN:  Good afternoon, Madam Chair.  Roger Higgin for Energy Probe, and I'd like to enter an appearance for David MacIntosh.

MS. TAYLOR:  Thank you.

MS. SEBALJ:  And we are here, as well, Kristi Sebalj, Board counsel, and I'm accompanied by Lawrie Gluck, case manager, and Tina Li.

MS. TAYLOR:  Thank you very much.  Are there any preliminary matters?
Preliminary Matters:


MR. SHEPHERD:  Yes, Madam Chair.  I wanted to raise the question of the outstanding issue with respect to the pensions deferral account.

MS. TAYLOR:  Mm-hm.

MR. SHEPHERD:  The other day, the Board, in EB-2011-0210 issued a procedural order in which, as I understood it, it effectively took over the issue of -- or treated the issue of whether Union goes to USGAAP and its implications as a preliminary issue in the 2013 rate case.

It was actually -- and imported all the evidence from this proceeding into that proceeding to consider it, and it was certainly my understanding, which I understand may not be correct, that, as a result, all issues associated with USGAAP would be dealt with in that proceeding as part of that preliminary issue.

Therefore, I'd ask the Board's guidance to let me know how far we should be going on the pension deferral account question today, given that the USGAAP issue is now in another proceeding.

MS. TAYLOR:  I think that from our perspective today, the issue that is before us is whether or not it is appropriate to establish the deferral account for 2012, as it is a 2012 rate matter.  It may not be disposed of in 2012, but it is a matter that is relevant to the 2012 proceeding.

Even if we were to establish a deferral account -- let me rephrase.  If a deferral account is not established for 2012, the amount that Union, I guess, were to put in it or not put in, it would then become an out-of-period expense with the 2013 rate, and that Panel would not be able to consider that amount or the recovery of it, as far as I would understand it.

And even if this Board or this Panel were to establish a deferral account for 2012, it doesn't mean that, in fact, going to USGAAP or presenting the 2013 application in USGAAP, in fact, was appropriate.

So that matter will be dealt with by the future Panel.

This Panel is concerned with the establishment and whether it's appropriate to establish a deferral account.

MR. SHEPHERD:  I guess my concern is that for those of us who may be opposed to the establishment of this account, the first argument against it is that the Board has not approved going to USGAAP, and, therefore, there is no point in having a deferral account if you aren't changing your accounting -- the Board hasn't approved the change in the accounting.

And so the reason I'm raising it is that I'm wondering, and I'm asking the Board to consider, whether it would be appropriate to allow that other panel, or to ask that other panel, to consider the deferral account question, too, as part of the preliminary issue, given that it's a natural aspect of that decision in any case.

MS. TAYLOR:  Mr. Smith, do you have any comments on that?

MR. SMITH:  Well, yes.  I would adopt the comments that the Panel made.  From Union's perspective, the matter is properly before you.  Union requires a deferral account for the 2012 period.  It has filed evidence and there have been interrogatories asked in respect of that evidence.  So we are prepared to proceed.

In my submission, nothing about the Board's recently issued procedural order in the 2013 cost of service proceeding varies from that in two respects.

First, to pick up on my friend's submission with respect to the evidence, of course the Board has the statutory power to receive evidence in more than one proceeding.  So it would be incorrect to suggest that the evidence has been imported into another proceeding and no longer remains in this proceeding.

The Board has simply said, in the cost of service proceeding, that it's prepared to treat that evidence as now having been filed in that proceeding, as well.

So that's the first point from an evidentiary perspective.

The second point is Union has made the decision, for external reporting purposes, to proceed to file in USGAAP.  It requires a deferral account to address that change.  That does not mean that that predetermines any issues with respect to whether or not it's appropriate for Union to file, for rate-making purposes, its 2013 cost of service proceeding on a USGAAP basis.  And of course the Board will have to determine that issue.

So, in my submission, we should proceed today.  There is no particular efficiency argument to not proceeding.  So I think we have a panel and we're ready to go.

MR. SHEPHERD:  Could I reply?

MS. TAYLOR:  Yes.

MR. SHEPHERD:  This points out the problem exactly, and that is that my friend has said that whether or not the Board approves the use of USGAAP for regulatory purposes, he still wants the deferral account.  And that, of course, is an issue, because I'm not sure how the deferral account could be used if the Board decides that they cannot go to USGAAP.

And, therefore, I think we have a problem in this proceeding that we're sort of putting the cart before the horse.  We're assuming that something's going to happen that may well happen, but may not.

MS. HARE:  I think, though, Mr. Shepherd, what Ms. Taylor was trying to explain was that establishing the account does not in any way mean that it will be disposed of in the future.  And, in fact, if the decision in the 2013 cost of service is not to allow Union Gas to file under USGAAP, then that means that automatically the 2012 deferral account would not be approved.

But it has to be established first; otherwise, there would be out-of-period costs.

So I guess what I'd like to ask you is:  How is your client prejudiced in any way by the establishment of an account?

MR. SHEPHERD:  Well, I guess –-

MS. HARE:  I guess what I'm saying is establishing a deferral account does not in any way mean that the amount in that deferral account will be disposed of eventually.

And that's the same with all deferral accounts.

MR. SHEPHERD:  Well, that suggests, then, that every utility that ever asks for a deferral account should always get it, and the Board has not taken that position.

MS. HARE:  Well, I'm not saying that we're approving this, either.  I'm saying it's a live issue for that reason.

MR. SHEPHERD:  And I guess all I'm suggesting is that there is -- I mean, obviously I'm in the Board's hands.  If you decide to proceed with it today, I will, of course --


MS. TAYLOR:  It seems to me, Mr. Shepherd, that we're getting into the argument of whether or not this deferral account should, in fact, be established.

So I think that this Panel is of the view that we would like to hear the arguments to or for or against the establishment of the deferral account as it relates to the 2012 rate application.

It was identified in the final Issues List as to whether or not the establishment of the deferral account is appropriate.  It doesn't necessarily speak to recording in USGAAP for ratemaking purposes.  It's solely to address the issue of whether the deferral account is or is not appropriate.

And so I think we would like to hear this.

MR. SHEPHERD:  Thank you.

MR. SMITH:  If those are the only preliminary matters, members of the Board, we intend to call two witness panels today.

The first panel I would like to ask to come forward and be sworn.  It's Ms. Elliott and Mr. Wathy.
UNION GAS LIMITED - PANEL 1


Janet Patricia Elliott, Sworn


Richard Wathy, Sworn

Examination-In-Chief by Mr. Smith:


MR. SMITH:  Members of the Panel, I should perhaps have been more comprehensive in that the intention is for this panel is to address the USGAAP-related issues.  So we'll have the evidence very soon.

Ms. Elliott, beginning with you, I understand that you are the controller of Union Gas?

MS. ELLIOTT:  I am, yes.

MR. SMITH:  And you have held that position and title since 2008?

MS. ELLIOTT:  Yes.

MR. SMITH:  And you have held the position of controller since 1999?

MS. ELLIOTT:  Yes, essentially.

MR. SMITH:  And I understand that you have been employed by Union since approximately 1981?

MS. ELLIOTT:  Yes.

MR. SMITH:  And you are a chartered accountant?

MS. ELLIOTT:  I am.

MR. SMITH:  And a member of the Institutes of Chartered Accountants of both Ontario and Canada?

MS. ELLIOTT:  Yes.

MR. SMITH:  And I understand that you have a bachelor's of mathematics from the University of Waterloo?

MS. ELLIOTT:  I do.

MR. SMITH:  And we see from your curriculum vitae that you have testified before the Board on a number of prior occasions?

MS. ELLIOTT:  Yes, I have.

MR. SMITH:  And were you responsible or involved in the preparation of evidence relating to the request for deferral account 179-127, other deferred charges, pension charge on transition to USGAAP?

MS. ELLIOTT:  I was, yes.

MR. SMITH:  And do you adopt that evidence for the purposes of testifying today?

MS. ELLIOTT:  I do.

MR. SMITH:  And similarly, Ms. Elliott, were you involved or responsible for the preparation of answers to interrogatories in respect of that evidence?

MS. ELLIOTT:  I was, yes.

MR. SMITH:  And do you adopt that evidence for the purposes of testifying today?

MS. ELLIOTT:  I do.

MR. SMITH:  Mr. Wathy, I understand that you are the manager of financial reporting and general accounting?

MR. WATHY:  I am.

MR. SMITH:  And you have held that position since 2010?

MR. WATHY:  Yes.

MR. SMITH:  And I understand that prior to that you were the team lead, financial reporting?

MR. WATHY:  Yes.

MR. SMITH:  And you've been with Union Gas since approximately 2008?

MR. WATHY:  That's correct.

MR. SMITH:  I also understand that you are also a chartered accountant?

MR. WATHY:  Yes, I am.

MR. SMITH:  And a member of the institutes of that organization in both Ontario and Canada?

MR. WATHY:  I am.

MR. SMITH:  And I understand that you have a bachelor of commerce degree from the University of Windsor?

MR. WATHY:  I do.

MR. SMITH:  Now, did you assist in the preparation of evidence in relation to account 179-127?

MR. WATHY:  Yes, I did.

MR. SMITH:  And do you adopt that evidence for the purpose of testifying today?

MR. WATHY:  Yes, I do.

MR. SMITH:  And similarly, were you involved in the preparation of answers to interrogatories in respect of that evidence?

MR. WATHY:  Yes, I was.

MR. SMITH:  And do you adopt it for the purposes of testifying today?

MR. WATHY:  Yes, I do.

MR. SMITH:  Now, just a few questions-in-chief, if I may be indulged, members of the Panel.

By way of overview, can you please describe the relief that you're seeking in this proceeding?

MS. ELLIOTT:  Yes.  For 2012, the application was for approval of a deferral account, and that deferral account would capture the difference between our future benefits costs under USGAAP, the difference between USGAAP and Canadian GAAP, Canadian GAAP being the basis on which rates are set and USGAAP being the basis on which we are reporting externally in 2012.

MR. SMITH:  And what is the purpose of the deferral account?

MS. ELLIOTT:  The deferral account for 2012 was intended to track the accounting differences so that they could be captured and, I guess, recorded for transparency's sake, in order to identify the difference between the two accounting methodologies.

Our intent is to amortize that balance into income for 2012, on the basis that it's included in rates.  So it's essentially an accounting tracking mechanism at this point only.

MR. SMITH:  And from Union's perspective, why is it necessary that the deferral account be established?

MS. ELLIOTT:  Again, as we go to USGAAP for external financial reporting and accounting, the USGAAP expense for future benefits is less than the Canadian GAAP expense.  So without the -- and the deferral account was intended to capture that difference that is still to be expensed under Canadian GAAP.  It would not be expensed under USGAAP.

So to avoid or to deal with that difference, we are applying for the deferral account to defer and amortize those amounts until rates can be reset.

MR. SMITH:  And what is the amount that Union ultimately anticipates recording in the account?

MS. ELLIOTT:  Beginning 2012, we expect the amount to be recorded in that account to be about $12 million at the beginning of the year and $7 million at the end of the year.

We'll know definitively what that balance is once we've finished the 2011 year-end, but it's in the range of $10 million at the beginning of the year and $7 million by the time we come out of 2012 and look to reset rates in 2013.

MR. SMITH:  And what accounts for the difference between the $10 million and the $7 million?

MS. ELLIOTT:  The amortization of that balance for 2012 is the amount that is included in rates today that isn't part of the USGAAP expense.

MR. SMITH:  And can you just, please, advise the Board when is it that you would be looking to clear that deferral account?

MS. ELLIOTT:  When we put the application for the deferral account into the 2012 evidence, the intent was to deal with the disposition of that deferral account at the end of 2012, so it would be early next year as we're disposing of the 2012 balances.

That was also under the assumption that in 2013 rates would be rebased.

MR. SMITH:  Thank you.  Those are my questions.

MS. TAYLOR:  Do we have an order on who's to go next?

MS. SEBALJ:  We didn't have time to formalize the order.  I think we're in the Panel's hands.  Board Staff does have a few questions, but we're happy to go first or last, depending on other parties.

MS. TAYLOR:  Mr. Brett?

MR. BRETT:  I can go first, if you like.

MS. TAYLOR:  Okay.  Certainty.  A volunteer.
Cross-Examination by Mr. Brett:

MR. BRETT:  Okay.  Just going back for a moment to the discussion between the Board and Mr. Shepherd, am I right, Ms. Elliott, in thinking that, assuming that this preliminary hearing on the cost of service 2013 rates is going to take place sometime in the next couple of months -- in any event, take place sometime in 2012, and there will be a decision made by the Board some time in 2012, am I right in thinking that if the Board were to defer creating a deferral account today, and, instead, create the deferral account at the time they made the decision, let us say for sake of argument, to allow Union to take up -- to use USGAAP, that that would not -- that that would capture the dollars that Union needs to capture in this deferral -- wants to capture in this deferral account?

Let's assume, for example, that decision was made on April 1st.

MS. ELLIOTT:  Any -- if the decision is made in 2012, we could certainly book the journal entry any time in 2012 as it relates to the fiscal year.

Getting the decision prior to the fiscal year was the intent of the application.

MR. BRETT:  Right.

MS. ELLIOTT:  Now that we're in the fiscal year, to the extent that there is any issue with the decision that would impact financial reporting, ideally it would be best to get that before we issue our first-quarter report.

But as long as we got a decision inside the year that was dealing with costs for the year, we have the opportunity to book the entries.

MR. BRETT:  All right, thank you.

If I could, I'm going back to the beginning here for a moment, I think, and ask you a few questions around your evidence, which is quite short on this point, at least your evidence -- your filed evidence.  And, also, I'm going start with just getting an understanding of CICA 3461.  That's section 3461 of the CICA Handbook.

And, essentially, as I understand your evidence, under Canadian GAAP section 3461 of the CICA prescribes that -- or, really, it requires that you treat future benefit costs -- they use the phrase "unrecognized actuarial losses".  3461 requires you to -- requires the company to determine what those losses are, or gains, as of the time that 3461 went into effect.

And then it also prescribes a method for collecting those, or for amortizing and collecting those heretofore unrecognized amounts.

And, first of all, could you tell me:  When did 3461 take place?  When did it become effective?

MS. ELLIOTT:  Section 3461, as it relates to this issue, became effective in the year 2000.

MR. BRETT:  Okay.  So in the year 2000, 3461 went into effect.  And the equivalent -- the equivalent to 3461 in the US, you said, is -- and I'll just use the initials for this, but your evidence says ASC 715 Compensation - Retirement Benefits.  That's the US equivalent to 3461; right?

MS. ELLIOTT:  That's correct.

MR. BRETT:  And on this issue, are they for all practical purposes the same?

MS. ELLIOTT:  The only difference is the effective date.  The US standard became effective in 1989, I believe.

MR. BRETT:  Right.  And under the US standard that became effective in 1989, what was the date by which all of the unrecognized actuarial costs had to be amortized?

MS. ELLIOTT:  The same as the Canadian standard:  Over their average remaining service life.  So if we had been under USGAAP since its inception, these actuarial losses would have been fully amortized at 2012.  So about 17 years is about the amortization period.

MR. BRETT:  All right.  So in other words, there would be nothing left to amortize.  This issue wouldn't have arisen.  This issue arises -- another way of put putting this is this issue arises because, under USGAAP, USGAAP started with this process earlier than Canadian GAAP did.  And so under USGAAP, a company's losses of this nature would have already been -- they would have already caught up, because they were given a period of years, I take it, to catch up, and the period of years being the average service -- average remaining service life of the plan's employees.

And, in effect, in the US, the companies have caught up; is that right?

MS. ELLIOTT:  That's correct.

MR. BRETT:  Okay.  Now, going back to 3461, it requires Canadian companies to calculate -- first of all, to calculate unrecognized actuarial losses.  And can I ask you just on that point:  Could you just give us a high-level description?  What are these unrecognized actuarial losses and how do they arise in Union's case?

Could you just give us a general understanding of that?

MS. ELLIOTT:  I can provide a general understanding.  When pension expense is set, there are a number of assumptions that go into setting the expense.  The biggest one or the one that probably has the most impact on the unamortized actuarial losses is the return on assets.

So when we set the expense, we have an assumption embedded in there as to what the assets are going to earn and return, and that will determine the expense.

Actual returns on those assets will give rise to a gain or loss relative to the expected return.  So each year, as we reset our expense, we update the asset values, but we will have a difference between what we actually expensed -- or, sorry, what we actually earned on the assets and what we assumed in the expense.

And that's true of other assumptions that would also go into the pension expense.  So it captures mostly the variance in assumptions between actual and forecast.

MR. BRETT:  And is it fair to say -- is it the return on the assets that's the major driver?  I mean, I realize there is a number of other actuarial assumptions in there, too, but I think you're suggesting the big one is the return on assets?

MS. ELLIOTT:  That generally is one of the larger ones, yes.

MR. BRETT:  And before 3461 happened, what -- came into effect, what happened?  You didn't have to do this analysis, or is that getting too...

I don't need the answer to that, but I would like this one, an answer to this one.  This analysis, the tabulation that's made, is it made each year going forward, or are you required to sort of set these -- to calculate these unrecognized actuarial losses on a year-to-year basis?

MS. ELLIOTT:  We are, but the amount that we're talking about here is the amount that existed at the date the standard came into effect.

So there's an amount that was in existence at 2000.

MR. BRETT:  Right.

MS. ELLIOTT:  And then there's the ongoing unamortized actuarial gains or losses which are calculated annually.

So that's not at issue here in the calculation of this deferral account.

MR. BRETT:  Okay.  So this issue is not going to arise again, in other words, each year.  This issue is a one-time fix?

MS. ELLIOTT:  The amount that we're talking about here is fixed subject to the only -- the item we're waiting for is the piece that's related to the December 31st, 2011 measurement date.

MR. BRETT:  Right.

MS. ELLIOTT:  So there's a small piece due to the change in measurement date from September 30th to December 31st.

MR. BRETT:  Right.

MS. ELLIOTT:  We're waiting to finalize our December 31st results to finalize that piece.  But the biggest piece is the transitional obligation that was known in 2000.  That's not going to change.

MR. BRETT:  And what was the significance of 2000 again?

MS. ELLIOTT:  That was the change in the accounting standard.  And I think the essence of that change was we went from cash --


MR. BRETT:  I'm sorry, that's when 3461 went into effect?

MS. ELLIOTT:  Yes.

MR. BRETT:  Okay.  Sorry, I missed that last -- I interrupted you, sorry.  You said the essence of that change?

MS. ELLIOTT:  I think it was from cash accounting for the expense to accrual accounting.

MR. BRETT:  Okay.  That sort of goes into my next question, because, as I understand then what happened in Canada - this is under Canadian GAAP - that calculation was done and you reached an amount.  And is that the $10 million -- is that amount the -– oh, no, sorry.  I'm getting ahead of myself.

So that calculation, it was done.  And thereafter -- in other words, from 2000 on -- you had a balance that you had to amortize, and you amortized that by adding -- you're adding amounts.  You amortized that; you were allowed to amortize that over the average remaining service life of the plan's employees.  And so you divided -- you took -- and that was 2017, I understand?  Up to -- that took you up -- allowed you to effectively pay off that negative balance, for want of a better word, those unrecognized losses.  You were allowed to pay those off each year by an addition to your pension expenses?  Is that how that works?  You would increase your pension -- your contribution to the plan each year by a certain -- by a --


MS. ELLIOTT:  We increased our expense each year.  This is an accounting expense, not -- it doesn't impact the pension contributions.

MR. BRETT:  Okay.  So this is not a cash expense each year that you have to make?

MS. ELLIOTT:  This is included in the expense that we record.  The contribution is a different calculation.

MR. BRETT:  All right.  So just give me -- the expense that you record, now we're talking for financial statement purposes?

MS. ELLIOTT:  That's correct.

MR. BRETT:  And that expense is -- so that's a charge against earnings each year for that -- over that series of years, in order to get rid of that dollar amount; is that right?

MS. ELLIOTT:  That's correct.

MR. BRETT:  And that goes on under your current regime until -- under the Canadian -- under your situation, that would, in the normal course, go on until 2017?

MS. ELLIOTT:  That's correct.

MR. BRETT:  Now, you're saying that's an expense.  So that that would then be something that you would recover in rates each year; correct?

MS. ELLIOTT:  Yes.

MR. BRETT:  But you're also saying that that would not be -- that's quite -- and I understand, I think, why.  That's quite different than the amount that you contribute to the plan each year in cash, because that will depend what the balance of the plan is, and analyses of the plan's adequacy and so on; is that right?

MS. ELLIOTT:  Yes.  That's right, yes.

MR. BRETT:  Okay.  Well, then, let's move on.

And again, under your current arrangement, you will have that expense, and you will be collecting that amount in rates up until 2017, right?  Each year?

I mean, leaving aside the issue of IRM versus cost of service for the moment.  I just want to go back over that ground.

You'll be -- you'll have an expense on your -- under Canadian GAAP going forward, if you were not to make the switch to USGAAP or IFRS, you would show an expense of a fraction of that total amount each year until 2017?

MS. ELLIOTT:  That's correct.

MR. BRETT:  And how much is that, roughly, per year?

MS. ELLIOTT:  If you turn up -- Board Staff asked a question.  It's in Exhibit B1.8.

MR. BRETT:  B1.8?

MS. ELLIOTT:  B1.8.

MR. BRETT:  Just a second.  Let me get that, please.

MS. ELLIOTT:  It's at page 4 of 5.  The tables in

MR. BRETT:  Just a sec.  Hang on, please.  I haven't got that yet.  Okay.  I have that now.  Yeah?

MS. ELLIOTT:  There's two tables in part G.

MR. BRFETT:  Right?

MS. ELLIOTT:  That will show what you're talking about.

The opening balance that was set up in 2000, and then the amortization each year and the closing balance.

MR. BRETT:  Mm-hmm.

MS. ELLIOTT:  So what we're looking at right now in the 2007 to the 2010 range is 1.8 for pension and 1.8 for other post-employment benefits, so a total of 3.6 that we're amortizing and has been built into rates under Canadian GAAP.

MR. BRETT:  Now, where is that 3.6 again?

MS. ELLIOTT:  It's just the total of 1.8 and 1.8.  It's the sum of the pension and other post-employment benefits.

MR. BRETT:  And what line you on, sorry?

MS. ELLIOTT:  Well, if you look at 2007 was when we last reset rates?

MR. BRETT:  Mm-hmm.

MS. ELLIOTT:  The 1.8 in 2007 under "Pension"?

MR. BRETT:  Yeah.

MS. ELLIOTT:  And 1.8 under 2007 in "Other post-employment benefits"?

MR. BRETT:  Okay.  I'm sorry.

MS. ELLIOTT:  The assumption would be that rates include those costs, which total $3.6 million.

MR. BRETT:  So they're in rates at the moment?

MS. ELLIOTT:  Yes.

MR. BRETT:  Okay.  Now, let me just carry on.  I think we can move to the USGAAP now.

Under the ASC 715, I think you've told us that the recovery of unrecognized actuarial losses is handled in the same way.  I mean, in the US they start earlier, so they're finished earlier, but it basically is the same set of accounting principles?

MS. ELLIOTT:  Yes.  Again, we're separating the transition.

So when the standard came into effect, there would have been, at that point in time, a requirement to identify the unrecognized actuarial losses, and then an amortization period.

So the US standard came into effect in 1989.  And so those losses at that point, after 17 years, would have been fully amortized.

So as we sit here in 2012, converting to USGAAP, those losses that are still out there for Canadian reporting have to have been fully recognized if we adopt the US standard at the point where it became into effect.

MR. BRETT:  Okay.  And the...  So now, what you say when you change -- let's talk a bit about the change to USGAAP.  You say when changing to USGAAP, you have to make the change retrospectively.  What does that -- could you tell us what that means?

In other words, does it -- and where does that requirement to make a retrospect -- first of all, what is it to say that you're going to change retrospectively?

MS. ELLIOTT:  You have to apply the standard as if you had always been reporting under it.  So this is the situation, where the standard came into effect in '89, and so we had to apply it as if we had always been reporting under that standard.  So that's --


MR. BRETT:  You have to recap -- I'm sorry.  Pardon me.  So does that mean you have to recast your financial statements back to 1989 for this issue?

MS. ELLIOTT:  We don't have to recast our full financial statements, but we have to calculate it as if --


MR. BRETT:  Okay.

MS. ELLIOTT:  -- this had been done.  There is a provision in the standard that says "or when the best available" -- or "when the information becomes readily available."  So actually going back to '89 isn't an absolute requirement if you don't have the information.

MR. BRETT:  Is that in the US standard?

MS. ELLIOTT:  Yes.

MR. BRETT:  But do you have the information back to that --


MS. ELLIOTT:  We have the information back to 2000.

MR. BRETT:  Right.  Oh, that's in your evidence, I think.  Yeah.

MS. ELLIOTT:  But we actually recognized that if we had applied it at '89, 17 years later we would have no unamortized losses left.

MR. BRETT:  Okay.  And that's for what, essentially?  For comparability purposes?

I mean, it's -- well, I guess it's more than that.  It affects the value of the company, right?

I'll come back to that last question.

MS. ELLIOTT:  On transition to USGAAP, all other things being equal, these amounts would have been written off through retained earnings.

MR. BRETT:  Right.

MS. ELLIOTT:  And what we're saying is the deferral account, the recognition that these will be recovered in rates, allows us -- or we should be looking at a regulatory asset.

So the accounting order and the deferral account is really a support for that regulatory asset.

So we're not recognizing it through retained earnings, on the basis that we have the amounts currently recovered in rates.  And to add to that, the deferral account would support setting up a regulatory asset.

MR. BRETT:  Well, if you -- as I understand it, if you were not to set up the deferral account -- I mean, leaving aside the timing issue we talked about, and I'm jumping ahead a little bit here.

But I gather that you need the deferral account in order to recover these amounts in rates.  If you simply recovered this amount by writing down retained earnings, and that's all you did, you wouldn't be able to recover the amount in rates; is that right?

MS. ELLIOTT:  The amounts that we have -- the amount is currently being recovered in rates under Canadian GAAP.

MR. BRETT:  Right.

MS. ELLIOTT:  If we move to USGAAP, we won't have a 2012 -- and we wrote it off through retained earnings, we would have no expense in 2012.

MR. BRETT:  Right.

MS. ELLIOTT:  We would have the revenue of 3.6 with no cost.

What we're proposing is deferring that, amortizing it into 2012 so that the expense matches the revenue.

MR. BRETT:  Mm-hm.

MS. ELLIOTT:  And then the remaining balance at the end of 2012 would be the residual that we need to deal with going forward.  If we reset rates in 2013, this balance is the difference between the Canadian GAAP expense and, at this point, the USGAAP expense, if that's the basis for rates.

MR. BRETT:  And I think you said that at the outset in your examination-in-chief, but what is that amount?

MS. ELLIOTT:  About $7 million, we expect.

MR. BRETT:  So it's $7 million that you would be seeking to eventually, in 2013 and thereafter, recover from rates?  That's the number?

MS. ELLIOTT:  Under the assumption that rates are changed from Canadian GAAP to USGAAP in 2013.  So the USGAAP expense will be -- this amount will not be included in the USGAAP expense.  So to get it recovered in future rates --


MR. BRETT:  Mm-hm.

MS. ELLIOTT:  -- we're looking for the deferral account to track that amount so that it can be dealt with.

MR. BRETT:  All right.  That's fine.

Did the US regulator handle this issue in a similar way?  Did they effectively do it much the same?

MS. ELLIOTT:  I can't speak to how the US regulator would have tracked these costs.

MR. BRETT:  Okay, that's fair.

Now, just dealing with this charge to retained earnings for a moment, the way this again works, leaving aside the regulatory side of this for a moment and just looking at this as a pension accounting issue, in order to get yourself on-side, switching to USGAAP, you decided that you would have -- the way to do that is to -- sorry.

When you move from Canadian GAAP to USGAAP, the way that you catch up, as it were, is that you take a charge to retained earnings as a company; is that correct?

MS. ELLIOTT:  That's the approach, if you don't have the rate-regulated accounting option, yes.

MR. BRETT:  If you had a straight financial reporting company that didn't have regulatory exceptions to their -- you know, regulatory wrinkles or regulatory provisions on their accounting, that's how you would do it.  You would make a charge to retained earnings?

MS. ELLIOTT:  That's correct.

MR. BRETT:  And so the amount of that charge would be -- in the case that we're talking about, it would be in the order of $7 million?

MS. ELLIOTT:  Because we're going effective 2012, it would be $10 million.

MR. BRETT:  Okay, because you haven't recovered the 3.1 that we talked --


MS. ELLIOTT:  We have the 2012 amortization to deal with, as well.

MR. BRETT:  All right.  So the impact of that - and we're talking here in a non-deferral account environment - would be a reduction in the retained earnings of the company by that amount, and, what, a reduction in equity, in shareholders' equity, when the -- at the time of the amount of the write-down?

MS. ELLIOTT:  The other side of that entry would probably show up in, I think, the liability or other comprehensive income.

MR. BRETT:  All right.  But what is the financial impact of a -- what I'm trying to get at is:  What's the financial impact on the company, absent the deferral account, of a write-down of a charge to retained earnings?  It's a reduction?  Does it affect the -- does it have any financial -- what financial impact does it have on the company?  Does it affect value, book value?

MS. ELLIOTT:  It will be a reduction to retained earnings --


MR. BRETT:  Correct.

MS. ELLIOTT:  -- on the financial statements, and the offset would be to set up a liability.

MR. BRETT:  All right.

MS. ELLIOTT:  That in and of itself, I'm not sure that I can speak to value, but it would introduce complexity, certainly complexity, in the environment that we're in, when we're looking at equity for the utility and our capital structure.

But it shouldn't -- as an accounting entry, in theory, it shouldn't affect the value of the company.

MR. BRETT:  But it would affect the -- it could affect -- you're saying it could affect the capital structure, could affect covenants of loans, for example?

MS. ELLIOTT:  It may enter into the calculation.  For a $7 to $10 million adjustment, it's not likely to have a major impact.

MR. BRETT:  Okay.  That's fine.  That part I think we can leave.  It's a little esoteric, and I think maybe it's too esoteric for me in the current circumstance, anyway.

So these amounts that are charged to retained earnings under USGAAP, they will no longer be recognized as a pension expense under USGAAP?

MS. ELLIOTT:  That's correct.

MR. BRETT:  That's what you mean when you say the pension expense under USGAAP will be lower than the pension expense under Canadian GAAP?

MS. ELLIOTT:  Yes.

MR. BRETT:  Okay.  Now, in terms of -- I know you haven't covered this explicitly, but is it your idea that when you seek to recover this 7-million-odd or 10 million, I guess, in -- whatever the number, if it's 7 or 10 million in rates, that you would seek to recover it over the same period of time as you would have recovered that amount under Canadian GAAP; in other words, over the period between now and 2017?

MS. ELLIOTT:  We're not actually dealing with the disposition of that account here in this proceeding.

MR. BRETT:  I understand that.

MS. ELLIOTT:  So I guess my answer would be, when we come forward to the Board for disposition of that, it will depend on the circumstances at the time what the term of the disposition would be.

MR. BRETT:  All right.

MS. ELLIOTT:  Whether it's a one-time disposition or something that happens over time, it will depend.

MR. BRETT:  Okay.  Thank you.

But would you agree with me that if you did decide to recover that amount on a one-time basis, let's say, in 2013 rates, that that would be in itself, leaving aside other disadvantages or advantages in Union moving -- to the ratepayer, of Union moving to USGAAP from Canadian GAAP, that that in itself would be a disadvantage to Canadian ratepayers, because under current Canadian GAAP, that amount is recovered between now and 2017?

In other words, you would be pushing up the time of recovery and trying to take it all in one year, as opposed to taking it over five years?

MS. ELLIOTT:  If our proposal at the time was to recover it in one year, yes, we would be moving it from what is now under Canadian GAAP a further recovery to 2017.

MR. BRETT:  Okay.  Now, do you know -- well, I think I had a question here, but I think I'll defer this, because we're not really talking about IFRS here.  We're talking about a narrower subject.  And in light of the time, I think I will leave that to the next round, the next case.

But let me ask this.  On the move to GAAP, are there other issues -- are there other -- you're dealing here with a particular -- with pensions, and a particular, I understand this, unfunded pension liability or pension expenses.  And we've discussed the way this transition works for pension expenses.

I take it that there are not any other -- that this is the only issue of this nature.  There are not any other issues involving regulatory assets or regulatory liabilities that would be affected differentially by moving to USGAAP?

MS. ELLIOTT:  This is the only issue of this nature.

There's actually a draft of our notes to financial statements in our response to Board Staff B1.5, attachment 5 --


MR. BRETT:  Yes?

MS. ELLIOTT:  -- that goes through the various changes.


But this is the only one that has a regulatory asset associated with it.

MR. BRETT:  Are there any that have regulatory liabilities associated with them?

MS. ELLIOTT:  No.

MR. BRETT:  Okay.  Just give me a moment, please.

Is it the case -- I don't know whether you can answer this, but let me try it -- is it the case that under USGAAP -- under Canadian GAAP, we have a situation where -- or I guess under Canadian GAAP and Canadian practice, we have a situation where a regulator like the OEB can impose modifications on the accounting for purposes of -- for regulatory accounting.  And we've had some -- there's been some papers published by the Board and some discussion on how far those modifications can go.  But the Board's, as I understand it, it's -- the Board's objective is ultimately to achieve just and reasonable rates.  And in pursuit of that, it can make alterations.  It can have regulatory assets, regulatory liabilities, for example.

Is it the case that the US -- is that the case in the US, as well, to the best of your knowledge?

MS. ELLIOTT:  I think what you're referring to is the fact that under Canadian GAAP we can recognize, for external financial reporting purposes, those actions of the regulator that change the accounting.

MR. BRETT:  Yes.

MS. ELLIOTT:  That is also true under USGAAP.  So one of the reasons for choosing USGAAP over IFRS is that USGAAP continues to allow us to reflect the actions of the regulators in our financial statements.

MR. BRETT:  And so -- and you're saying given the current state of affairs, IFRS does not?

MS. ELLIOTT:  That's right.

MR. BRETT:  Okay.  Thank you very much.  Those are my questions.

MS. TAYLOR:  Thank you, Mr. Brett.

Mr. Shepherd, are you ready?  Or...

MR. SHEPHERD:  I think Mr. Thompson's next.

MS. TAYLOR:  Okay.

Cross-Examination by Mr. Thompson:

MR. THOMPSON:  Yes.  Thank you very much, Madam Chair and Mr. Shepherd, for punting it along to me.

Panel, am I correct that the need for this account is contingent on the Board's approval of your proposal to transition to USGAAP?

MS. ELLIOTT:  I would say the account is required for 2013 to track the difference between Canadian GAAP and USGAAP.  The account will continue to track those differences until such time as rates are rebased, and then there will be a question of whether it's that -- the account balance at that point in time that needs to be addressed, or in the event of rebasing under something other than USGAAP, whether it's a different balance that needs to be addressed.

But the account, really, is to track the differences that exist between USGAAP and Canadian GAAP.  We'll defer and amortize those differences until we reset rates, and then we'll deal with the disposition of the account.

MR. THOMPSON:  But you don't need a deferral account to track differences.

MS. ELLIOTT:  The deferral account gives me the evidence that the regulatory asset exists.  I could convince the auditors and set the regulatory asset up without an accounting order, but the accounting order is the best evidence.

MR. THOMPSON:  All right.  Well, let me put it this way.  If your proposal to transition to USGAAP is rejected by the Board, then there's no need for this account?

MS. ELLIOTT:  There will be a need for an account -- deferral accounts to track the differences between USGAAP and whatever the method that is set for determining rates.

So as long as there's a difference between the accounting approach and the regulatory issues, there will be deferral accounts to track those differences.  There will be some mechanism to track those difference, in order to maintain that second set of books.

MR. THOMPSON:  But it may not be a regulatory-approved deferral account; fair?

MS. ELLIOTT:  We ask for the deferral account -- really, when you look at the guidance that the Board provided in its transition to IFRS and then the subsequent addendum, tracking the differences between how rates are currently set and the accounting -- in that case IFRS, but in this case USGAAP -- deferral accounts were how it was set, how that report was set to track differences.

MR. THOMPSON:  But you're avoiding my question.

You do not need a regulatory deferral account to track differences?

MS. ELLIOTT:  You don't.

MR. THOMPSON:  You can do that outside of the regulatory approval process?

MS. ELLIOTT:  I can, but it's the simplest and the most transparent method to track the differences.

MR. THOMPSON:  All right.  Now, when -- the company has taken a voluntary decision to transition to USGAAP effective January 1, 2012; is that correct?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  All right.  And has the Board yet approved the company's proposal to transition to USGAAP effective January 1, 2012?

MS. ELLIOTT:  That transition is for external reporting and accounting purposes only.  It's been approved by the securities regulators.

MR. THOMPSON:  Has the Ontario Energy Board yet approved your proposal to transition to USGAAP effective January 1, 2012?

MS. ELLIOTT:  They haven't, and they don't need to approve the methodology for accounting and external reporting.

MR. THOMPSON:  All right.  So what is it -- the proposal that you have to transition to USGAAP that's to be considered as a preliminary issue in the 2013 case, what is that proposal?  Is it the proposal to transition to USGAAP effective January 1, 2012?

MS. ELLIOTT:  No.  It's to set rates effective January 1, 2013, based on USGAAP financials.

MR. THOMPSON:  All right.  Well, assuming the Board rejects the transition proposal in the 2013 preliminary issue, where does that leave this deferral account you're asking for?

MS. ELLIOTT:  I still have the issue of tracking the difference in '12, to report -- the difference between Canadian GAAP that rates are based on, and USGAAP.

MS. HARE:  Maybe I can jump in, because I had the same question, actually, for later.

But to ask in a different way, if your proposal to move to USGAAP is not approved, what would you be doing with the 2012 deferral account with respect to rates?

MS. ELLIOTT:  The balance in the 2012 deferral account at the end of 2012, if USGAAP is not approved for rate-setting in 2013, I think that balance gets replaced with a different balance, and that would be the difference between what rates are based on and what our accounting is.

It will be -- to some degree, it may be a reconciliation account, as opposed to a deferral account.  It will depend on what rates are based on in 2013.

If rates continue to be based on Canadian GAAP, going forward, then I just keep deferring and amortizing this deferral account, tracking the difference.  If rates were based on something else, I would have to determine what that something else is and what the difference was, and how I would account for it.


MR. THOMPSON:  All right.  So if I can put the question this way, is your request for this account based on an assumption that the Board will approve your transition to USGAAP effective January 1, 2012?

MS. ELLIOTT:  I think initially it likely was based on that assumption, but I still need to deal with the difference as a reconciling item between how rates are set today - for 2012 rates are set using Canadian GAAP - and I will be reporting under USGAAP, and that difference is the difference in the employee benefits cost.

And the deferral account gives me the method to track those differences.

MR. THOMPSON:  How would an unregulated enterprise deal with this, a transition to USGAAP from Canadian GAAP, but no regulator to establish deferral accounts?

MS. ELLIOTT:  We'd charge the -- the charge would go through retained earnings.

MR. THOMPSON:  And that would be the end of it?

MS. ELLIOTT:  And that would be the end of it.

MR. THOMPSON:  So then is it fair to say that you are viewing a Board decision in this case establishing the deferral account you're asking for as a decision approving a regulatory asset account?

MS. ELLIOTT:  For 2012, that's the case, yes.

MR. THOMPSON:  And so if you get what you're asking for in this case before, let's say, April of 2012, you will report that in the annual report -- well, in the quarterly report for the first quarter of 2012; is that right?  That's what I thought I heard you say in your evidence previously.

MS. ELLIOTT:  I'm not sure whether I -- it will be reported as disclosure, but it would certainly give me the evidence to present to the auditors to support the asset that's on the books.

MR. THOMPSON:  Okay.  And if the Board then, in the preliminary issue in the 2013 case, rejects the proposal to transition to USGAAP and goes somewhere else, do I understand you to be saying you're going to rename the account something, so it's no longer a transition to USGAAP pension expense account; it's going to be something else?

MS. ELLIOTT:  It's still for 2012, because we're reporting external USGAAP.  The 2012 account is the transition impact to USGAAP.

What I don't know is, for 2013, what that account looks like, because I don't know what rates are based on.

MR. THOMPSON:  All right.  So just to nail it down for 2012, if you get it something in this case, and then the preliminary issue proceeding says no transition to USGAAP, the account that's been established in this case persists just for 2012, and then self-destructs or gets renamed?  What happens to it?

MS. ELLIOTT:  It would exist for 2012, and then it would get replaced or modified to reflect the rate-making decisions of the Board.  So it would be a modified -- there would be a modification of the account for 2013.

MR. THOMPSON:  All right, thanks.

Now, in terms of the charge, you mentioned in-chief -- well, perhaps just to get this straight, I think we'd want to turn up CME Interrogatory No. 8.  I think it's B4.8.  I hope I've got the right one marked here.  No, it's B4.9.  Excuse me.

And what we were trying get at here is:  What is the amount to be recorded in the account you're proposing?  And the answer you gave here was $7.3 million plus or minus an adjustment for the change in measurement date effect for 2012.

And then in-chief I thought I heard you say the amount to be recorded will be $10 million in January 2012 and about $7 million at the end of 2012.

Just stopping there, have I got that straight?

MS. ELLIOTT:  Yes, it's -- the $7 million is at the end of 2012.

MR. THOMPSON:  And then -- so how much is to be recovered in rates from ratepayers?  The $7 million, the 10 plus the 7, or something in between?

MS. ELLIOTT:  No, it will be the 7 million, assuming that rates for 2013 are set based on USGAAP.

MR. THOMPSON:  All right.  But is there any scenario where it's going to be materially larger than 7 million?

MS. ELLIOTT:  If rates are set under IFRS, it could be larger.

MR. THOMPSON:  And what's that number, big picture?

MS. ELLIOTT:  I don't know.  We haven't done our IFRS rate proposal, because that wasn't what we were working on.

MR. THOMPSON:  Okay.  And so let me back -- let me just ask the question this way.  If you don't get the deferral account, what precludes you in your rebasing case from asking for something for 2013?

In other words, if this is just to set you up for going into 2013, why can't you do that in the rebasing case?

MS. ELLIOTT:  Normally when we ask for deferral accounts, the request goes in at the beginning of that transaction or that activity so that it can be captured while it's happening.

To put it into the 2013 case and request approval for this balance, it was a known balance at the end of 2012.

MR. THOMPSON:  All right, thanks.

Now, the evidence, I think, is in this response, but I think you were discussing with Mr. Brett, as well, is that this $7 million is a number that reflects losses going back in historical periods.  Do I understand that correctly?

MS. ELLIOTT:  That's correct, yes.

MR. THOMPSON:  And how far back does it go?

MS. ELLIOTT:  It's the remaining balance of the unamortized loss identified in the year 2000.  I don't know how far back that goes.

MR. THOMPSON:  No, but it reflects -- I'm sorry, did I interrupt you?

MS. ELLIOTT:  It is the 2000 calculation.

MR. THOMPSON:  All right.  And that, then, relates to prior years; is that right?

MS. ELLIOTT:  It relates to periods previous to 2000, yes.

MR. THOMPSON:  Okay.  Any idea how far back it goes?

MS. ELLIOTT:  No.

MR. THOMPSON:  Big picture?  Many years?

MS. ELLIOTT:  I don't know.  It was the point in time estimate -- it was the balance on hand in 2000 when the accounting standard came into effect.

MR. THOMPSON:  All right.  And so just, again, to put this in context, had this been recorded in 2000, there would be nothing today; is that right?

MS. ELLIOTT:  No, this was the amount identified in 2000.  This is what is left to amortize from that 2000 balance.  It's currently being recovered in rates.  The amortization is part of our current rates.  If nothing happened, if we continued under Canadian GAAP, these amounts would stay in rates until 2017.

MR. THOMPSON:  Okay.  So are we then accelerating recovery of what you would get under Canadian GAAP?

MS. ELLIOTT:  If the disposition is a one-time disposition, then, yes.  But we're not talking about the disposition of that account here.

MR. THOMPSON:  All right.  And it's amortized over 17 years, did I hear you say?

MS. ELLIOTT:  I think that's the average remaining life.  Each plan -- there's about six or seven plans in the Union -- each plan has a different remaining life.  So, on average, it's about 17 years, but the actual five or six plans will have different lives.

MR. THOMPSON:  All right.  So does that mean that the 7 million you're seeking to recover really represents an NPV of something that would be recovered over the next 17 years?

MS. ELLIOTT:  It's the next two or three years.  We're talking about 2013 to 2017, thereabouts.

MR. THOMPSON:  Okay, 2013 to 2017.  And there's already something baked in rates by way of amortization, right?

MS. ELLIOTT:  There is, yes.

MR. THOMPSON:  And is that the 1.8 and the 1.8 you were talking about to Mr. Brett?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  And so if we wanted to isolate the incremental amount attributable to 2012 only, would it be a small amount?

MS. ELLIOTT:  For the -- the amount related to 2012 is 3.6.  It's one year's worth of amortization.

MR. THOMPSON:  Right.  But that's already baked in rates, right?

MS. ELLIOTT:  It's baked in rates.

MR. THOMPSON:  You're recovering that now?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  And all I'm trying to get a handle on is if we isolated the portion of the 7-point (sic) million that is related to 2012 only, would it be a small amount?


MS. ELLIOTT:  I think essentially it would be zero.  It would be something in the order of 2- or $300,000.

MR. THOMPSON:  All right.  So well below the threshold for a Z-factor; is that fair?  The threshold for a Z-factor is $1.5 million?

MS. ELLIOTT:  It is.  I'm just trying -- I'm just thinking about it in the context of a Z-factor.  But it certainly -- yes, it will be below $1.5 million.

MR. THOMPSON:  Thank you.

Now, in your response to B4.8, you seem to be saying that the request for this relief is not based on Z-factor considerations; it's based on something else.  Do I understand that --


MS. ELLIOTT:  No, it's actually based on the Board's report on the transition to IFRS, and the subsequent amendment to that report that talked about capturing and tracking the differences between how rates are set and the new accounting standards that the company is following.

And this is the situation we're dealing with here, is the company's adopting a new accounting standard and has Canadian GAAP still for rates, so the account is tracking the difference between that.  At some point, that difference has to be dealt with when rates are reset.

MR. THOMPSON:  All right.  But I guess my question is:  Why shouldn't it be subject to Z-factor criteria?  Why shouldn't an item of this nature have to meet a $1.5 million threshold?

MS. ELLIOTT:  We're not actually asking for anything to be recovered from ratepayers during the incentive period, so there really is no application of a Z-factor required.

During the incentive period, which is -- the last year being 2012, this is an accounting order that's for accounting purposes only.

MR. THOMPSON:  Okay.  Now, again, just on the historic track record here, I just wanted to get a couple of other numbers in the record.  And these stem from B4.10 and 4.11.

And would you take, subject to check, that the overearnings under Union's IR planned for 2008 were 82.3 million, 2009, 51.6 million, 2010, 44.1 million?  Just stopping there, I've taken that from B4.10.

Is that correct?

MS. ELLIOTT:  I have that, yeah.  Yes.

MR. THOMPSON:  And then B4.11, I asked for 2011 and '12, and the answer was this information will be filed in Union's 2013 rebasing.

Would you take subject to check that, for 2011, the overearnings are 29.924 million in that filing, and for 2012 2.623 million in that filing?

MS. ELLIOTT:  I don't have the rate filing, but I'll take that, subject to check.

MR. THOMPSON:  All right.  And would you take, subject to check, when I add up those overearnings for five years, the number is $210.5 million?

MS. ELLIOTT:  Okay.

MR. THOMPSON:  Or an average of more than $42 million per year?  Would you take that, subject to check?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  And so had this item been recorded in any one of the prior years in IRM, there would have been more than adequate overearnings to cover it?

MS. ELLIOTT:  I guess that's where you've lost me.  These expenses...

MR. THOMPSON:  More than $7 million.

MR. SMITH:  Let the witness answer the question, Mr. Thompson.

MR. THOMPSON:  All right.  Well, I was just trying to say what number I was referring to when I put the question.

MS. ELLIOTT:  Your question suggests we can expense -- we could have expensed in a past period costs that, according to the Canadian accounting standards, would be expensed in future period.

So these are items under Canadian GAAP that would be expensed in 2013, 2004.  Had those expenses been brought forward to 2008 or '09, I'll agree with you that bringing $7 million of expenses into any of those years would have reduced the overearnings, but that wouldn't have been proper accounting.

MR. THOMPSON:  All right.  Mr. Brett asked you do you intend to restate your financial statements going back.  And I understood you to say:  Well, we have that option, but that's not sort of the way we do it.

MS. ELLIOTT:  No, no.

MR. THOMPSON:  No?

MS. ELLIOTT:  The restatement going back is a restatement of financial statements under USGAAP, and that's not required in transition to the standard, but the calculation needs to be done as if the expense had been recorded under USGAAP.

MR. THOMPSON:  Okay.  Well, let me leave it this way.  Part of the $7 million relates to losses in the years 2008 through to 2011?

MS. ELLIOTT:  No.  The $7 million relates to losses prior to 2000.  So it was a transitional obligation identified in 2000, at the point in time where the accounting standards changed in Canada, and it has been amortized over the period 2000 to 2017.

MR. THOMPSON:  All right.  Let me move on now.

In terms of, conceptually, changes in accounting rules, would you agree with me that they don't trigger a change in costs?  They really are a matter of form of reporting?

MS. ELLIOTT:  They will actually change the accounting of costs in any given period, but over a period of time, that change may be a timing difference as to when those costs are recognized.

MR. THOMPSON:  Well, maybe I phrased it poorly.

They don't trigger a cost incurrence?  It's a reporting change?

MS. ELLIOTT:  No, they could cause a cost to be recognized in the financial statements.  They may not trigger a cash requirement, but it could trigger an expense to be recognized.

MR. THOMPSON:  Well, in this particular case, is this just not a reclassification of known costs?

MS. ELLIOTT:  The costs that were recognized in 2000 are being amortized over 17 years.  So it's a recognition of those costs over a period of time.

MR. THOMPSON:  All right.  Now, just looking at it from the perspective of a competitive market and a change in accounting rules that simultaneously affected competitors, would you not agree with me -- or would you agree with me that that change would not automatically prompt any change in pricing?


MS. ELLIOTT:  In a competitive market, I'm not sure that pricing is an automatic consequence of cost.  There's lots of factors that go into it.

MR. THOMPSON:  All right.  Well, let's put it -- one competitor would not put its market share at risk by increasing prices to reflect a change in accounting rules if others weren't doing it, as well?

MS. ELLIOTT:  I can't speak to what competitors in an open market environment would or wouldn't do with pricing.

MR. THOMPSON:  Now, finally, in terms of this proposition of the deferral account that you're claiming with respect to USGAAP, is this only one item in a range of changes that will occur as a result of a transition from Canadian to USGAAP?

MS. ELLIOTT:  This is the only item that has an income statement impact.  Most of the other items are reclassification items on the balance sheet.

MR. THOMPSON:  Okay.  But are there other items that would be of benefit to ratepayers?

MS. ELLIOTT:  No.

MR. THOMPSON:  And why can you so definitively say that?

MS. ELLIOTT:  This is the only item that we're dealing with that has a cost consequence.  The rest of the items are accounting reclassifications.

MR. THOMPSON:  But do those not affect rate base?

MS. ELLIOTT:  No, they don't.

MR. THOMPSON:  So what do they affect?

MS. ELLIOTT:  The list is on Exhibit B1.5, attachment 5, page 6.

MR. THOMPSON:  B1.5, attachment 5, page 6.

MS. ELLIOTT:  Page 3 actually shows the balance sheet.

MR. THOMPSON:  Okay.  So it goes from --


MS. ELLIOTT:  So if you look at the balance sheet, which may be the easiest thing to do, on page 3, the items that are in rate base are property, plant and equipment, and there are no changes to property, plant and equipment under USGAAP.

Inventories is another line item that goes into rate base, and there is no changes.

MR. THOMPSON:  Right.  But in terms of capital structure, no change is what you're saying, even though the liabilities -- total liabilities and equity decline?  In other words, are we cherry-picking here with this proposition?

MS. ELLIOTT:  No.  There is no impact on rate base or capital structure as a result of USGAAP.

MR. THOMPSON:  Thank you very much.  Those are my questions.

MS. TAYLOR:  Yes, Mr. Shepherd.  Are you --


MR. SHEPHERD:  I'm just getting ready.  I'm next.

MS. TAYLOR:  All right.  I think what we'll do now, given it's 2:30, is we'll take a 15-minute break and we'll reconvene with you leading off.  Please don't keep standing while we leave.

MS. HARE:  It takes me a while.

--- Recess taken at 2:30 p.m.

--- On resuming at 2:57 p.m.

MS. TAYLOR:  Before Mr. Shepherd commences with his questions, I'd just like to take a brief polling on the remaining time for this panel this afternoon.  We have three more issues, and we may have to continue tomorrow morning.

So, Mr. Shepherd, how long will you be?

MR. SHEPHERD:  I expect to be about 20 or 25 minutes.

MS. TAYLOR:  And Ms. Girvan, do you have any?

MS. GIRVAN:  No questions.  Thank you.

MS. TAYLOR:  No?  Dr. Quinn?

MR. QUINN:  Yes.  I would have about five minutes, maybe one or two questions.  Thank you.

MS. TAYLOR:  And Mr. Gruenbauer?  I hope I pronounced that right.

MR. GRUENBAUER:  Yes, Madam Chair.  Thank you.  I have no questions.

MS. TAYLOR:  No questions?  And Mr. Higgin?

DR. HIGGIN:  Madam Chair, just one question.  Thank you.

MS. TAYLOR:  And Ms. Sebalj?

MS. SEBALJ:  We'll probably be about 20 minutes.

MS. TAYLOR:  Twenty minutes?  All right.

Well, we'll push on to 4:30, and then I know there are childcare and other commitments.  We could probably go to 5:00, but we'll have to see how that goes, and if we can't consider the second issue with the second panel, we'll probably be reconvening tomorrow morning.

Mr. Shepherd?

MR. SHEPHERD:  Thank you, Madam Chair.

Cross-Examination by MR. Shepherd:

MR. SHEPHERD:  So let me start by just clarifying when you're proposing to go to USGAAP.

If I understand correctly, for financial statement purposes your effective changeover is January 1, 2012, and that means, because you have to report prior year comparable, on the comparable basis, it's effectively January 1st, 2011; is that right?

MS. ELLIOTT:  Sorry, for -- we're going to USGAAP for -- sorry, is that better?

MR. SHEPHERD:  No.

MS. ELLIOTT:  How about now?

MR. SHEPHERD:  Perfect.

MS. ELLIOTT:  For financial reporting, we're going to USGAAP effective January 1, 2012.  The financial statements will have comparables for 2011.

MR. SHEPHERD:  Okay.  And then for -- now, just before I go on to regulatory, it's correct, isn't it, that because your parent company reports on the USGAAP basis, you've prepared USGAAP financial statements for some time, right?  Many years?

MS. ELLIOTT:  We submit information to our parent that allows them to prepare the USGAAP financials, but Union Gas has not produced USGAAP financial statements for reporting in Canada.

MR. SHEPHERD:  Let me rephrase that.

Since you became owned -- at least since you became owned by Duke and then subsequently Spectra, somebody has prepared Union Gas financial statements on a USGAAP basis; is that correct?

MS. ELLIOTT:  No.  Our USGAAP numbers will be consolidated into Spectra's USGAAP financial statements, but there is no USGAAP Union Gas financial statement.  All of the component parts are there, but the financial statements under USGAAP are not produced.

MR. SHEPHERD:  And in fact, for the parent company, in order for the parent company to prepare it, to consolidate it on a USGAAP basis, they have to first prepare USGAAP financial statements for Union Gas and then consolidate, right?  That's the process?

MS. ELLIOTT:  Their process will be to take the Union Gas Canadian GAAP financials, add it to the USGAAP adjusting entries, to roll into the Spectra USGAAP financial statements.

MR. SHEPHERD:  And your pension expense, the Union Gas pension expense that has been reported on a consolidated basis by your parent company since -- at least since prior to 2000, has been on a USGAAP base, right?

MS. ELLIOTT:  We were only acquired by Duke in 2002.

MR. SHEPHERD:  Sorry, 2002, then.

MS. ELLIOTT:  So Union Gas converted to Canadian GAAP in 2000.

In 2002, Westcoast was acquired by Duke Energy, and we started feeding the USGAAP information to the parent at that point in time.

MR. SHEPHERD:  And so since that time, the expense that's been recorded on a consolidated basis for your pension expense has been on a USGAAP basis?

MS. ELLIOTT:  The expense that's reported in the parent's financials --


MR. SHEPHERD:  Yes.

MS. ELLIOTT:  -- on a consolidated basis, has been on a USGAAP basis, yes.

MR. SHEPHERD:  Good.  Now, what you're proposing with respect to the accounting changeover for regulatory purposes, as I understand it, is January 1st, 2013?

MS. ELLIOTT:  Sorry, can you repeat that question?

MR. SHEPHERD:  You're converting to USGAAP, for financial statement purposes, January 1st, effectively January 1st, 2011, because of the comparable year.

With respect to for regulatory purposes, I think I heard you say that you're not expecting to change over to USGAAP until 2013; is that right?

MS. ELLIOTT:  That's correct.

MR. SHEPHERD:  But then wouldn't you have a difference for two years in your financial statement information, so that your ongoing regulatory balances would be out of whack?

MS. ELLIOTT:  The difference is the amount that we're proposing to put into this deferral account.

MR. SHEPHERD:  I'm going to come to that.  Okay.

So then I'm trying to figure out what exactly you want to put into this account.  And so let's start with the easy part, which is -- and you've referred already, I think, to Exhibit B1.8, which is a Board Staff interrogatory response at page 4, which has the table.  And I think it would be useful to turn this up, because I have a couple of questions on this.

It's page 4 of Exhibit B1.8.

MS. ELLIOTT:  I have that.

MR. SHEPHERD:  Okay.  Thank you.

And what I'd like you to do is confirm to me first that if I look in the upper left of that table, you'll see there's an opening balance in 2000 of 25.9 for pension and 40 million for OPEBs.

So that 65.9 is the original adjusting amount that had to be amortized; correct?

MS. ELLIOTT:  That's correct.

MR. SHEPHERD:  Okay.  And you've got it split into pension and OPEB, but actually there were several different amortizations because there were different periods that you were amortizing different amounts over, right?  But this is a simplified version of it?

MS. ELLIOTT:  This is a simplified version because there are several plans inside this, and each plan has its own amortization period.

MR. SHEPHERD:  Understood.  Okay.

And this is why, for example, some of the numbers change over time, right?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  Because otherwise at amortization -- you're doing a straight-line amortization in each plan, and so otherwise the amortization would be identical, right?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  Okay.  Good.  Then am I also right that if I look at the line that says 2006 and I go over to the right-hand column, so on pensions, you see it says 13.1?  And on OPEBs, you'll see it says 14.7?

So the two total 27.8 million, right?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  And that would be your January 1st, 2007 unamortized balance for this amount, yes?

MS. ELLIOTT:  That's correct, yes.

MR. SHEPHERD:  Okay.  So -- and that was the period -- 2007 is the first year you had this 3.6 million baked into rates, right?

MS. ELLIOTT:  2007 was the last cost of service rebasing application, yes.

MR. SHEPHERD:  Okay.  And so for this particular expense, you had 3.6 million baked into rates?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  So my math says that you had 3.6 million baked into rates, and you're collecting that from ratepayers for six years, 2007 through 2012.  And that totals $21.2 million.

And that tells me, from a ratepayer point of view, that there remains 6.2 million unamortized at that time; is that correct?  That is January 1st, 2013, 6.2 million?

MS. ELLIOTT:  You're confusing the rate recovery with the amortization.

So the rate recovery was based on the cost of service forecast in 2007, was 3.6.

The amortization of those costs is actually running out over the useful life.

So for example, in 2010, the amortization was 3.2 million, not the 3.6 that was built into rates.  As a result of the test year forecast and the incentive regulation period, the rates don't change but the costs do.

MR. SHEPHERD:  So you collect 3.6 million from the ratepayers but the expense is only 3.2 million, and you keep the difference?

MS. ELLIOTT:  Well, the -- the difference goes into earnings.  There are a number of expenses that vary over an incentive period.  Not everything stays the same as it would -- as it was forecast in 2007.

MR. SHEPHERD:  And in fact you're currently forecasting that the amount outstanding on January 1st, 2013 will be 7.3 million, right?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  And so that difference of $1.1 million is money that you've collected from the ratepayers during IRM for this purpose, but you're not proposing to credit the ratepayers when you make the entry to this deferral account; is that correct?

MS. ELLIOTT:  No, we're not.  Those revenues have gone into earnings for the period that they've earned and been matched against the expenses incurred in those periods.

This is only one expense.  You're pointing out a difference, a reduction, in the expense, but there are a number of other expenses that go into the earnings calculation.

MR. SHEPHERD:  I understand.

And then you said that it continues to amortize until 2017, but I did the math and I thought, Well, if you have - whether you have 6.2 or 7.3 million left on January 1, 2013, I don't know how you get five more years.

MS. ELLIOTT:  It will be the decline in the average life.  Most likely it will show up in the pension amortization.  Those plans look like that amortization is declining over the period.  So it's not 3.6 or 3.2 every year.  It's declining as the plans run out of average service life.

So the last plan will be amortized in 2017.

MR. SHEPHERD:  But that might be a small amount that's left?

MS. ELLIOTT:  Yes.  It may be a small amount.

MR. SHEPHERD:  I see.  So we shouldn't assume that you're going to keep asking for 3.6 million for another five years.  You're actually going to ask for 7.3 over those five years?

MS. ELLIOTT:  We're going to ask for 7.3 to be disposed of in some fashion.  Whether it's over three or other five years, it will be 7.3.

MR. SHEPHERD:  Okay.  So that's the first part.  This all actually has nothing do with your moving to USGAAP, in the sense that this is all about what happened when you moved to Canadian GAAP in 2000; right?

MS. ELLIOTT:  This is the difference between what happened when we moved to Canadian GAAP and what would have happened had we moved to USGAAP when the standard was implemented.

MR. SHEPHERD:  All right.  So that leads me to the second area, and for that, I wonder if you could turn up an answer to an interrogatory from LPMA, which is Exhibit B8.5.

MS. ELLIOTT:  I have that.

MR. SHEPHERD:  Okay.  Now, if I understand this, this is not about the old amortized amount from 2000.  This is about the difference between Canadian and USGAAP expense amounts now, right, and in the last few years?

MS. ELLIOTT:  That's correct.

MR. SHEPHERD:  Okay.  And so your rates assume that you're going to pay for these things on Canadian GAAP basis; right?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  But you're in fact accounting for them, at least in 2012 and 2011, on a USGAAP basis; right?

MS. ELLIOTT:  For 2011, our results will be reported on a Canadian GAAP basis.  The accounting is on a Canadian GAAP basis.  We'll restate for comparative purposes when we report for -- in 2012, but the 2012 financial statements will be on a USGAAP basis.

MR. SHEPHERD:  All right.  And so let's just look at 2012 for a second.

You're going to expense, as I calculate it, a little over $4.4 million less than on a Canadian GAAP base because of the accounting change; right?  4.435 million, I guess?

MS. ELLIOTT:  That's correct.

MR. SHEPHERD:  You're not proposing to give the ratepayers credit for that anywhere, are you?

MS. ELLIOTT:  No.  What we're proposing is we would amortize that into our financial statements, because it is being recovered from the ratepayers.

MR. SHEPHERD:  So you're going to have an additional $4,435,000 in income in 2012 relative to what you would have had under Canadian GAAP, and you're going to keep that money, that accounting income?  That's going to be extra accounting income?

MS. ELLIOTT:  The full amount, the 4.4 million, isn't all recovered from ratepayers, but the 3.6 is coming through in revenue.

MR. SHEPHERD:  Sorry, I'm not talking about the 3.6 anymore.  3.6 is different.

MS. ELLIOTT:  Our expense under USGAAP basis will be lower in 2012 if we do nothing.  We've reflected an opening retained earnings adjustment of $10 million, and we'll reduce the expense.

But what we're proposing is we'll take that $10 million and we'll put it as an asset --


MR. SHEPHERD:  Sorry, what $10 million is this?

MS. ELLIOTT:  That will be the balance, the unamortized balance at the beginning of 2012.  So it's the 7 million with -- at the end of 2012, is 10 million at the beginning of 2012.

MR. SHEPHERD:  This is easier for you to understand than me, so I'd appreciate it if we could separate the year 2000 money and where that is today.  That -- we know what those numbers are; right?

MS. ELLIOTT:  Okay.

MR. SHEPHERD:  And just look at the difference in 2012 - and in a minute I'll get to 2011 - between the Canadian GAAP expense and the USGAAP expense.  That's not connected at all with the other one, is it?

MS. ELLIOTT:  It is connected.

MR. SHEPHERD:  Oh, so how?

MS. ELLIOTT:  In that difference is the 20 -- is the 2000 transition obligation.  So part of that difference is as a result of the transition obligation.

MR. SHEPHERD:  Ah.  Okay.

MS. ELLIOTT:  So in the 4.4 million is 3-million-and-something for the transitional obligation.

MR. SHEPHERD:  3.3, in fact; right?

MS. ELLIOTT:  Approximately, yes.

MR. SHEPHERD:  Okay.  So then the other 1.1 million there is as a result of a difference in current accounting, right, for pension expense?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  Okay.  And would we see that 2011 has similar amounts?

MS. ELLIOTT:  Most likely, yes.

MR. SHEPHERD:  Okay.  And so those amounts -- if your expense is less in those years, then your cumulative balances in your pension asset is also changed; right?

MS. ELLIOTT:  For USGAAP, yes.

MR. SHEPHERD:  Well, and that means if you go to USGAAP for rate-making purposes, the ratepayers get to pay that, don't they?  That difference, if you've increased the -- if you've had less pension expense, then you've increased the future liability, haven't you?  We get to pay that?

MS. ELLIOTT:  The asset doesn't get factored into the rate calculation, except for the calculation of the expense and the return on assets.  And when we convert to USGAAP, we'll be doing that calculation based on December 31st, and previously we were basing it on September.

So there's an impact for the change in measurement date, but it's relatively small.

MR. SHEPHERD:  Yeah, this $1.1 million is not a change in measurement date, is it?

MS. ELLIOTT:  I'm not sure that I can tell you what it is all attributed to.  But, essentially, the difference in the expense is a result of two changes.  It's the change in measurement date and the transitional obligation.

MR. SHEPHERD:  Because there's no difference at all in the calculation of the current year expense between USGAAP and Canadian GAAP?

MS. ELLIOTT:  There is no difference at all.

MR. SHEPHERD:  Well, see, that surprises me, because I'm looking at 2008 and 2009, and 2010 for that matter, and in none of those is the difference between Canadian GAAP and USGAAP is the same as on your chart that told us the impact of the year 2000 number.

MS. ELLIOTT:  Which will mean the difference is probably due to the change in the measurement date.

MR. SHEPHERD:  And when did that happen?

MS. ELLIOTT:  So for US reporting --


MR. SHEPHERD:  Yeah.

MS. ELLIOTT:  -- we report based on a December 31st measurement date.  For Canadian reporting we report on a September 30th measurement date.

So depending on what happens in that last quarter, it could have an impact on the USGAAP expense.  So the discount rate will be different because of the measurement date, but on a go-forward basis we'll be reporting on the December 31st numbers.

MR. SHEPHERD:  I understand that.  So, in reality, it hasn't happened yet for regulatory purposes; right?

MS. ELLIOTT:  Right.

MR. SHEPHERD:  And so it certainly couldn't have affected 2009, where, in 2009 -- you said in B1.8, in 2009, you had $3.4 million of expense related to the year 2000 amortization, but somehow you've got a $5.9 million difference between Canadian GAAP and USGAAP?

MS. ELLIOTT:  Yes.  And that will be the change in the measurement date and the discount rate that was calculated at the end of the year versus the third quarter.

MR. SHEPHERD:  Okay.  But I thought you weren't going back and restating prior years.

MS. ELLIOTT:  We're not.  What you're comparing here is what we've reported -- the calculation that we've reported for USGAAP in that year.  And the measurement date will have a real impact on the expenses as they've been reported, because Canadian GAAP is measured at September 30th and USGAAP is measured at December 31st.

When we looked at the estimates that we filed in this proceeding, we're using the same set of assumptions.  So we've taken out the impact of the discount rate.

MR. SHEPHERD:  So, for example, in 2009 your expense for Canadian GAAP purposes was -- total expense was about 22.2 million, and your expense for USGAAP purposes was 16.3 million.  And that 16.3 million was the actual expense that Spectra reported, right?  Or I don't -- yeah, 2009.  Spectra.  But you recorded an expense of 22.2 million, right?

MS. ELLIOTT:  That's right.  The USGAAP expense in that particular year would have been less as a result of what happened in the fourth quarter of 2008.

MR. SHEPHERD:  Okay.  Then my last couple of questions relate to with B1.5.  And this is actually attachment 6; it's the very last page of B1.5.

MS. ELLIOTT:  Yes?

MR. SHEPHERD:  And I'm not going to actually ask you to explain this whole thing for fear that I'll be shown not to understand it, but I do have a couple of questions on it.

What this table does, this is basically a draft note to the financial statements showing the conversion impact, right?

MS. ELLIOTT:  Attachment 6 is just a working paper.  Attachment 5 is the draft financial disclosure.

MR. SHEPHERD:  Oh, so this is the working paper that's behind it?

MS. ELLIOTT:  Yes.

MR. SHEPHERD:  Ah.  Okay.

MS. ELLIOTT:  It's a summary of the working paper that's behind it.

MR. SHEPHERD:  And we see a lot of different -- a lot of differences between -- what's on the left is Canadian GAAP and what's on the right is USGAAP?

MS. ELLIOTT:  That's right.

MR. SHEPHERD:  Okay.  So a lot of these line items have differences, right?  Between the --


MS. ELLIOTT:  Yes.

MR. SHEPHERD:  -- two?  So it's not like the only impact you have on pension and OPEBs is this year 2000 amortization; that's only one line in here, right?

MS. ELLIOTT:  It is only one line.

MR. SHEPHERD:  And so, for example, your net actuarial loss as of January 1st, 2011 is about $35 million less under USGAAP than CGAAP, right?

MS. ELLIOTT:  Which is essentially the result of the change in the measurement dates.

MR. SHEPHERD:  That's what I was going to get to.

So are all these other ones essentially a change in measurement date?

MS. ELLIOTT:  Yes.  Yes.

MR. SHEPHERD:  Okay.  And the change in measurement date, the reason that you don't make any adjustment for that in terms of how you deal with ratemaking -- tell me whether this is right -- is because over time it corrects itself, right?

MS. ELLIOTT:  That's right.  Over time, the change in the measurement -- on a forecast basis, yes, it doesn't have an impact.  On an actual basis, as you can see from the previous question, the change in the measurement does have an impact, but it works itself out over time.

MR. SHEPHERD:  And so is it your evidence, then, that the change in the measurement date doesn't affect -- will not affect, going forward, your expense, your pension and OPEB expense that you seek to have charged to ratepayers, recovered from ratepayers?

MS. ELLIOTT:  There will be an impact in 2012 as we change the measurement date, but on a go-forward basis, there will be no further impact.

So what we have here is an estimated impact of the change in the measurement date, which is about $400,000.  When we finalize our December 31st, '11 numbers, that number will be part of what we're proposing to be in the deferral account.  But it's a one-time adjustment, and it will have no impact going forward.

MR. SHEPHERD:  Okay.  Thank you.  I have no further questions.

MS. TAYLOR:  Thank you very much.

 I believe we've got Mr. Quinn next.

MR. QUINN:  Yes.  Thank you, Madam Chair.

Cross-Examination by Mr. Quinn

MR. QUINN:  These might fall under an area of clarifications after Mr. Thompson's inquiry.

My understanding is the Board has not yet approved, for the ratemaking implications, the move to USGAAP for January 1st, 2012; is that correct?

MS. ELLIOTT:  2012 is a period inside our incentive framework, so there is no rate impact of the move to USGAAP in 2012.

2013 will be the first year that there's any impact, assuming that we rebase rates to USGAAP in 2013.

MR. QUINN:  So that summarizes as there is no approval for that move as of January 1st, 2012?

MS. ELLIOTT:  There is no proposal to move to USGAAP for 2012 ratemaking.

MR. QUINN:  So leaving aside, then -- and Mr. Shepherd gave me some education in terms of this timing change and now I understand that a little bit better.

 But at this point, any tracking that Union's doing of the value of the unamortized amount between -- the difference between US and Canadian GAAP is being done at this time based upon Union's discretion?

MS. ELLIOTT:  I wouldn't say we track that amount separately, but it's factored into our USGAAP pension expense that goes to our parent.

MR. QUINN:  So this tracking, or it may be better said this estimation of the value of the difference, can be done at any time, including December 31st, 2012?

MS. ELLIOTT:  Yes.  We'll have an estimation of the value of the difference January 1, 2012, once we get the 2011 financials complete.

MR. QUINN:  And again, though, this could be done, again, at year-end, at December 31st, 2012?

MS. ELLIOTT:  Yes.

MR. QUINN:  Okay.  Thank you.  Those are my questions.

DR. HIGGIN:  Madam Chair, my question has been asked.  Thank you.

MS. TAYLOR:  Thank you very much.

 Ms. Sebalj?
Cross-Examination by Ms. Sebalj:


MS. SEBALJ:  Good afternoon.  I just want to start with some clarifying questions.

 The first has to do with a statement that was made in a Board Staff IR, which is -- and I don't know that you need to turn it up, but I'll just give you the question first.

It's B1.6(g), and in your response to that interrogatory, you provided the opening balance sheet -- sorry, and also Exhibit B1.5.  But you provided an opening balance sheet as at January 1, 2007, and a draft reconciliation for your employee future benefit program from CGAAP to USGAAP.  But in B1.6(g), you stated that:

"Union's external auditors are expected to complete their review of the opening balance sheet in Q4 2011."


And I know in your chief today you indicated that for the December 31 measurement date, you're waiting to finalize the December 31 numbers, but I'm wondering if you can give us an update on the status of the external auditors' review of the opening balance sheet for the transition from CGAAP to USGAAP.

MR. WATHY:  To the best of our knowledge now, Deloitte is looking at our numbers as they have been submitted, but we have not received anything back formally from them on the opening balance adjustments.

MS. SEBALJ:  Do you know when we might expect that to be finalized?

MR. WATHY:  No, I don't at this time.  My best guess would be for the first-quarter reporting period, when the opening balance sheet becomes subject to review.

MS. SEBALJ:  Thank you.  And the second is also in the nature of a follow-up or of clarifying.

In your response to Exhibit B1.5, attachment 4, page 4, you provided journal entries for the transition to USGAAP on January 1, 2012.  So it says there, "Entry upon Transition to US GAAP on January 1, 2012", and you state on page 5 that:
"... the amortization for 2012 would have already been included in rates and therefore, that year's amortization will be expensed in 2012 to draw down the Regulatory Asset."


But then in response to Exhibit B1. -- sorry, B1.6(b), you say:
"The retained earnings adjustment will be set up in the deferral account as at January 1, 2011. This balance will be amortized in 2011 and 2012 to adjust the expense of employee future benefits to the Canadian GAAP equivalent to align with the accounting methodology used for rate-making in those periods."


So can you please just confirm the date of the retained  earning adjustment to be set up?  Is it January 1, 2011, or January 1, 2012?

MR. WATHY:  In order to state the comparative period, we needed to set the retained earnings adjustment up as January 1, 2011.  The comparative period amount was amortized for 2011, and then the 2012 amount will be amortized, as well, to match the Canadian GAAP for rate-making.

MS. SEBALJ:  Okay, thanks.  So I'm just trying to take sort of a step back and look at all of the questions that you've been asked today, and look at -- so there's essentially two moving parts here.  One is a request for a deferral account, and one, as we've heard, is going to be the request for conversion for regulatory purposes to USGAAP, which will be heard as a preliminary issue in the cost of service proceeding.

So I've sort of set myself up a little flow chart here.  So if the deferral account is granted, and then you -- at your cost of service hearing, the conversion to USGAAP is approved, you will have the result, I believe, that you've asked for, and you will use this account for the purposes of determining what amounts at the time of disposition you'll be requesting for disposition.  So, essentially, the result will be as you've requested.

But if you are granted the deferral account and the conversion to USGAAP is not granted for regulatory purposes, you've said, I think, today that you'll be using the account for reconciliation purposes, depending on what accounting methodology the Board will require for regulatory purposes.

And I'm assuming that the only two options there are IFRS or CGAAP; is that correct?

MS. ELLIOTT:  I guess I'm assuming there's only one other option, which would be a modified version of IFRS.  So we would look at the balance in this deferral account, which is the difference between Canadian GAAP and USGAAP, and then have to look at the difference between that result and IFRS to figure out what the modification would be.

MS. SEBALJ:  And you indicated this morning that it would be greater?

MS. ELLIOTT:  Yes.

MS. SEBALJ:  But you indicated also that you hadn't done the full accounting under modified IFRS.  So that's just sort of a notional --


MS. ELLIOTT:  We haven't done our rate application under IFRS.  At the time when we were still looking at moving to IFRS, we knew that the pension and other post-employment benefits impact was going to be significant.

MS. SEBALJ:  And so my question, I guess, is:  Is there an impact in that case of not having this deferral account?  You've essentially said that you would transfer the deferral account to a reconciliation account, for lack of a better word.  And is it not the case that that could be done without the deferral account?

MS. ELLIOTT:  I need a mechanism to track the difference -- to determine what the modification is going to be.  So if we first look at what IFRS would produce for rate-making for future -- or employee future benefits, then we would have to know what the modification would be and how we would track and how we would deal with that difference.

So it would be a new account or a new tracking mechanism to determine what the IFRS impact was, and then what the rate-setting process wanted to do with that impact.

MS. SEBALJ:  And is there some reason that you need a deferral account for that?  I guess I'm having a hard time understanding why, if there is no deferral account in place, you wouldn't otherwise be able to track that.

MS. ELLIOTT:  The reason for applying for the deferral account was really consistent with the Board's findings in their report under IFRS, is that quantifying those differences between Canadian GAAP and IFRS, and determining how they were being dealt with on a go-forward basis, was being done through deferral accounts.

But, mathematically, we can track those differences without the deferral account.

MS. SEBALJ:  Okay.  And that takes me to -- and I'll finish the rest of my flow chart in a second, but if we could just press pause on that for a moment.

You mentioned in prior questioning that the rate impact in 2012 of the amortization -- the difference in the amortization is about $200,000 to $300,000; is that correct?

MS. ELLIOTT:  Sorry, can you ask that question again?

MS. SEBALJ:  I'm trying to remember under whose cross-examination it was.  I think it was Mr. Thompson's.  But he had asked you what the actual rate impact in 2012 of the accumulated amortization difference was.  And I believe the answer was $200,000 to $300,000.  And then there was subsequent questioning about whether that would qualify for Z-factor treatment.

[Witness panel confers]

MS. ELLIOTT:  That's the difference between what's built into rates today and what the actual amortization is.  And about $300,000 would be the difference, which is less than what would be done -- would normally be processed through a Z-factor.

MS. SEBALJ:  I see.  So what you're telling me is the overall rate impact is much greater than 200,000 to 300,000.  You're just telling me the difference between the rate impact today versus the rate impact when you add the difference between the two?

MS. ELLIOTT:  So for 2012 there is no rate impact.

MS. SEBALJ:  Because of IRM, because it's --


MS. ELLIOTT:  Because it's an incentive period and we're not proposing to change rates to reflect the cost of service.

As we move forward, if we reset rates in 2013 under USGAAP, the full 3.6 of amortization is no longer part of our cost in 2013 rates, so we would deal with that.

The remaining unamortized amount would be an issue of how to recover that over future rates.

MS. SEBALJ:  And that's the total of approximately 7 million that you said you made a request over a year of some other period of time?

MS. ELLIOTT:  Yes.

MS. SEBALJ:  The reason I raise it is because in the report, the addendum to the report of the Board on implementing IFRS - and you actually, I think, brought this up in your previous answer - the Board indicated that with respect to pension and OPEB items:

"The Board is not persuaded that the generic account is necessary.  It is not clear that the impact of the transition to IFRS on pension and OPEB items will be consistent among Ontario utilities."

And then, importantly:

"Individual utilities that can demonstrate the likelihood of large variances can seek an individual variance account from the Board."

And just for the record, that's on pages 23 and 24 of the addendum to the report.

And I'm assuming that was the reference that you were making when you said that the report indicated that utilities should ask for a deferral account in these cases?

MS. ELLIOTT:  That's correct, yes.

MS. SEBALJ:  And so in Union's view, then, the large variances -- this is a large variance and therefore you are seeking an individual variance account, or in this case a deferral account?

MS. ELLIOTT:  And the amount being the unrecovered amount of 7.3 as we reset rates.

MS. SEBALJ:  And that's because, at this point, we don't know over what period of time that 7.3 will be recovered, and so --


MS. ELLIOTT:  That's correct.

MS. SEBALJ:  So if I go back to my probably well oversimplified lawyer's flowchart on this, I've done the sort of side where you're granted the deferral account.  And now if we go the side where you're not granted the deferral account - and this may be repeating part of what I just asked - so if this Panel determines that a deferral account is not necessary or is not -- that it decides not to grant it at this time, what, I guess, in Union's view is the impact on Union should -- in either case?  Whether you're granted USGAAP for regulatory purposes at the cost of service, or whether you're not granted USGAAP for regulatory purposes at the cost of service?

MS. ELLIOTT:  The impact of not having the deferral account is really related to 2012 and reporting for 2012, and then the residual balance that we would have to deal with.

So if we took the issue of the residual balance aside and said that that would be dealt with when the decision was made as to how rates were being set, then it becomes an accounting issue in 2012.

If we take it through retained earnings and we don't set up a regulatory asset, then we have a USGAAP financial that has a lower expense.  We would make a corresponding adjustment in our earnings-sharing calculation to increase our Canadian GAAP expense, which ultimately would be the amount of the 2012 amortization that we're proposing here.

If we were able to set up the regulatory asset without the accounting order, then there's probably no difference between having an accounting order and not having an accounting order, as long as the auditors accepted the premise that it was a regulatory asset.

The accounting order gives me a simpler, more transparent way of getting confirmation that there's a regulatory asset.

MS. SEBALJ:  And if this Panel grants the deferral account, presumably the order will have at least two significant caveats, the first being that this in no way predicts the outcome of the disposition of that account, or the prudence of the entries in the account, nor the -- it won't give any implications with respect to whether or not the next Panel will approve USGAAP for regulatory purposes at the cost of service.

And so I'm just wondering, for the purposes of your accounting order, are the external auditors going to be given any confidence if that's what the order ultimately looks like from the Board?

MS. ELLIOTT:  That would be the assumption with or without the order.  So if we're granted the order, the understanding is, with the auditors, that the order doesn't guarantee recovery.

MS. SEBALJ:  And I think... I think my last question.

In 2012, my understanding from the various tables that we've looked at is that 3.6 million of the amortized difference between CGAAP and USGAAP is notionally recovered in Union's rates; is that correct?

MS. ELLIOTT:  That's correct.

MS. SEBALJ:  And so if Union doesn't request -- or, sorry, if either you didn't request this deferral account or you were not granted the deferral account in this application, is there any rate implication for 2012 rates?

MS. ELLIOTT:  There is not, no.

MS. SEBALJ:  And are there any out-of-period adjustments that would be incurred or that would occur as a result of not having that deferral account?

MS. ELLIOTT:  The adjustment is really the balance at the end of 2012 that needs to be addressed as we move into 2013.  So the year-end balance, which is the residual of the unamortized amount, if rates are reset, needs to be addressed.  And that amount is what we're dealing with here.

MS. SEBALJ:  And so is it at all accurate to say that the deferral account is a "nice to have" but not a "need to have"?

MS. ELLIOTT:  I think it's fair to say that the deferral account gives me a more transparent way of tracking and accounting for and reporting this, but I don't need to have it.  I can do all of that tracking and reporting without the deferral account.

MS. SEBALJ:  Those are all Board Staff's questions.  Thank you.

MS. TAYLOR:  Thank you very much, Ms. Sebalj.

I believe Ms. Hare has some questions?

Questions by the Board:


MS. HARE:  No, I just have one question.

There was a discussion about comparing a deferral account to Z-factor treatment, but in the past the Board has very often used the same criteria for setting up the deferral account as for a Z-factor, including materiality, prudence, causality and whether or not it's outside of management's control.

Now, this to me appears clearly -- the decision to move to USGAAP is clearly within management's control.

So do you have any comments about that?

MS. ELLIOTT:  I guess the initial "outside of management's control" is there is no more Canadian GAAP for 2012.  Canadian GAAP is not an option.  So we have to choose something.

And so the choice that management made was USGAAP.

The other choice was IFRS, and the IFRS choice results in a much greater impact and much more volatility than the USGAAP choice.

So while we have made a choice, the circumstances under which we had to make that choice were outside of our control.  We can't stay with Canadian GAAP.  It's not an option.

MS. HARE:  Thank you.

MS. TAYLOR:  Mr. Smith, do you have any redirect?

MR. SMITH:  No re-examination.

MS. TAYLOR:  Thank you very much.  The panel is dismissed.

MR. SMITH:  But just -- I should say before, members of the Panel, so it's perfectly clear, before we dismiss the panel, I had intended for this panel to address -- I believe it's the fourth issue, which is the closure of the long-term peak storage account.

Now, it may be that there are no questions because it's a matter of argument, but before people don't have the opportunity, I thought I would alert them to that.

THE CHAIR:  Mr. Thompson?
Cross-Examination by Mr. Thompson:

MR. THOMPSON:  Thanks.  Just a few questions on this, Madam Chair.

Yes, Panel, witness panel, from my client's perspective, this topic is one essentially of timing, and let me just see if we're on the same factual footing here.

Are we correct that within the long-term storage deferral account, the company currently records transactions of a duration of two years or greater?

MS. ELLIOTT:  We're not recording anything in the long-term storage deferral account at this point.  The last entry that went through that account was in 2010.

MR. THOMPSON:  Okay.  Well, let me come at it this way.  When you were recording entries in that account, are we correct that the entries being recorded for were for storage transactions of a duration of two years or greater?

MS. ELLIOTT:  That's correct, yes.

MR. THOMPSON:  Yes.  And within the ambit of the two years or greater transactions that were being recorded in that account, we learned in Union's 2010, I believe it was, ESM proceeding, which combined some issues with respect to storage, that asset optimization transactions of two years or greater were also being recorded in that long-term account when something was being recorded in there; is that right?

MS. ELLIOTT:  I'm not sure I'd categorize it generally as that.  Storage activity of greater than two years that resulted from gas loans or asset optimization in the first year were being recorded in that deferral account, yes.

MR. THOMPSON:  Okay.  And there's an issue -- in the 2010 ESM proceeding that has the storage issues rolled into it, there's an issue as to whether the asset optimization transactions of a term greater than two years should be subject to deferral account treatment commencing January 1, 2012.  Would you agree with that?

MR. SMITH:  I'm not sure that that's a matter of fact.  Your client asked for the creation of a new deferral account in its argument.  So we would agree that your client did ask at the conclusion of that hearing for a new account to be to be created.


MR. THOMPSON:  Well, to be precise, or for an enlargement of a short-term account to capture these over two years or greater asset optimization transactions.  But subject to that, we can agree that that's before the Board for consideration?

MR. SMITH:  Well, the Board currently has under reserve Union's 2010 earnings-sharing and deferral account disposition proceeding in which CME and other intervenors, some other intervenors, asked for the creation of a new account.  And that decision has not been rendered by the Board.  We can agree that that exists.

MR. THOMPSON:  And so the concern about closing this account before that decision was rendered was that we might lose the ability to track those two years or over asset optimization transactions.  And my question is:  Are those transactions being tracked?

MR. SMITH:  In this account?  You have the evidence from Ms. Elliott that there's nothing been recorded in this account.

MR. THOMPSON:  Well, are they being tracked otherwise?

MR. SMITH:  I mean, we do have a record of the transactions that have been undertaken.

MR. THOMPSON:  Well, Ms. Elliott, do you know or is this something that's out of your bailiwick?

MS. ELLIOTT:  We're not accounting for any of those transactions.  Whether the capacity management folks are tracking them, I can't answer.

MR. THOMPSON:  Could I have an undertaking to have that answered?

MR. SMITH:  Yes.

MS. SEBALJ:  It's J1.1.

MR. THOMPSON:  And just to be clear, can they be tracked for the period January 1, 2011 onwards?  In other words, is that information available?  Can we add that to the undertaking response?

[Counsel confer]

MR. SMITH:  Yes, we'll look at that.

MS. TAYLOR:  Ms. Sebalj, is that clear for the record, what this undertaking will entail?

MS. SEBALJ:  Mr. Thompson, can you repeat the undertaking so that we have it?

MR. THOMPSON:  Yes.  My understanding is that the company is going to advise whether these two years or more of asset optimization transactions that have taken place since January 1, 2011 are being tracked, and will continue to be tracked, until the Board rules on this issue in the 2011 -- sorry, 2010 ESM proceeding.

MR. SMITH:  Well, I think in fairness the question was:  Can they be tracked, not are they being tracked, because I think it's a different question?

Well, we're not undertaking to do work that the company isn't currently doing, but I will advise you whether or not it's possible -- if the Board were to render an adverse decision, whether it's possible to have recorded in that account transactions which have taken place.
UNDERTAKING NO. J1.1:  TO PROVIDE RESPONSE AS TO WHETHER TWO YEARS OR GREATER ASSET OPTIMIZATION TRANSACTIONS ARE BEING TRACKED.

MR. THOMPSON:  All right.  That's good.  Thanks, Madam Chair.  Those are my questions.

MS. TAYLOR:  Thank you very much.  Mr. Quinn.
Cross-Examination by Mr. Quinn:

MR. QUINN:  Yes, thank you, Madam Chair.

My question stems from a clarification, Ms. Elliott, of the question Mr. Thompson was asking.  Did I hear you correctly in saying these resource optimization transactions were for revenues over two years, for which there was storage activity in the first year?

MS. ELLIOTT:  Sorry, that was my understanding of the issue, is the gas loan optimizations happened in year 1 for a long-term contact.

MR. QUINN:  Thank you.  I apologize to the Panel, and I just want to repeat that.  I'm talking about the same type of transaction.  So when there's storage activity in year 1 which is used to provide the capacity for a storage contract which is greater than two years, so we're talking about the same type of transaction now, Ms. Elliott?

MS. ELLIOTT:  That's my understanding, yes.

MR. QUINN:  Okay.  So if we put ourselves in the just recently completed period of 2011, how were the costs of that storage activity tracked in 2011?

MS. ELLIOTT:  They're all part of the unregulated storage activity and taken out of corporate earnings before we get to utility calculation.

MR. QUINN:  To be specific, then, how is that done in terms of a -- from a storage operation point of view, how are those transactions separated from your day-to-day storage operations?

MS. ELLIOTT:  Any costs we incur to record or to create storage are expenses that directly are assigned to the unregulated storage operation.

MR. QUINN:  So you would have an ongoing record of those expenses throughout 2011?

MS. ELLIOTT:  We do.  We don't necessarily match them to the revenue that they've earned, but we have a record of the costs.

MR. QUINN:  If they're not matched to the individual transaction in aggregate, though, they are categorized as non-utility transactions?

MS. ELLIOTT:  That's correct.

MR. QUINN:  So you would have, in 2012, the total resource optimization revenues and the total resource optimization costs?

MS. ELLIOTT:  No.  We have the costs.  The revenues are from the storage activity.  We don't necessarily tag storage revenues to the deal that generated them.

MR. QUINN:  But when you're going to categorize the costs, it is somehow tagged to be a non-utility transaction?

MS. ELLIOTT:  That's correct.  All of the revenue is non-utility, and those costs are non-utility.

MR. QUINN:  Okay.  So I think rest would be answered in the undertaking and whatever follow-up by the Board.  So thank you very much.  Those are my questions.

MS. TAYLOR:  Thank you very much.

Mr. Gruenbauer?

MR. GRUENBAUER:  No questions, Madam Chair.

MS. TAYLOR:  Thank you.

Mr. Higgin?  Dr. Higgin, sorry.

DR. HIGGIN:  No questions, Madam Chair.

MS. TAYLOR:  Thank you very much.

Would you like redirect?
Re-Examination by Mr. Smith:


MR. SMITH:  Ms. Elliott, do you have any responsibility - and if so, please describe it - for the actual asset optimization transactions and the effecting of those transactions that you've been asked about?

MS. ELLIOTT:  I do not.  The accounting for those transactions would be under, indirectly, my area of responsibility.

MR. SMITH:  Thank you.  Those are my questions.

MS. TAYLOR:  Thank you very much.  And we are now done with this panel?

MR. SMITH:  Yes.

MS. TAYLOR:  Thank you very much.  You're dismissed.
So, Mr. Smith, we have two remaining issues.

MR. SMITH:  Yes.

MS. TAYLOR:  Is there anyone that's going to be speaking to the late payment penalty issue?  And are we just going to, then, go into cross bore, which may be even more lengthy than what we've heard today?

MR. SMITH:  Well, I certainly thought the cross bore would be the lengthier of the two.  We'll see whether I'm right or not.

I guess that I'm not aware of any questions other than, potentially, a question from Dr. Higgin with respect to the late payment penalty and the proposed change in wording.  So I was not separate -- I was not intending to separately identify a witness.  If people advise that they have questions on that, then perhaps we'll have to think about that issue overnight, but it will certainly be Union's position, at the end of the day in argument, that the change is simply being done make the disclosure as clear as possible and thereby avoid any future misunderstanding by ratepayers with respect to the change.

So it wasn't, from our perspective, really a matter of evidence, but I am aware of one person who has a question.  I've not been told of anybody else who has questions in that area.

MS. TAYLOR:  Mr. Shepherd?

MR. SHEPHERD:  Sorry, Madam Chair.  Do I understand that my friend has not brought a witness that can answer Dr. Higgin's question?

MS. TAYLOR:  That is correct.  So I'm just going to see if anyone else has --


MR. SMITH:  Sorry.  Mr. Tetreault will be able to answer the question.

MS. TAYLOR:  Okay?

MR. SMITH:  I'm not aware of any other issue beyond that.  But Dr. Higgin and Mr. Tetreault have spoken.  I know that they can speak about this issue.

MS. TAYLOR:  Okay.  We have time left on the clock for today, so why don't we deal with Dr. Higgin's questions --


MR. SMITH:  And Mr. Tetreault will be on the panel.

MS. TAYLOR:  Tomorrow?

MR. SMITH:  Right.  I was going to call them all as a group, the cross bore and Mr. Tetreault at one time.  And they would just be the panel to speak to the remaining two issues.

MS. TAYLOR:  Okay.  So I'm assuming -- I don't see Mr. Tetreault here, or he hasn't been introduced.

MR. SMITH:  Mr. Tetreault is here.  Yes.

MS. TAYLOR:  Thank you.  So can we get started on this last panel today?

MR. SMITH:  Oh, absolutely.

MS. TAYLOR:  We can put this one issue aside, and then continue on with the cross bore tomorrow morning?

MR. SMITH:  Yes, absolutely.

MS. TAYLOR:  Okay.  So if you would like to call your second panel, please, and bee sworn in.

MR. SMITH:  If I can have Mr. Tetreault come forward, along with Mr. Armstrong and Mr. Hodgson, please.

And while they're coming forward, members of the Board, I had prepared a package or we had prepared a package of CVs, and I had neglected to have it marked at the time the first panel testified, and perhaps I could just have that marked as an exhibit?

MS. SEBALJ:  Yes. We'll mark it as K1.1.

EXHIBIT NO. K1.1:  CVS FOR WITNESS PANELS

MS. SEBALJ:  And do you have those CVs in front of you, Panel members?

MS. TAYLOR:  For the benefit of the court reporter, before we swear these witnesses in, I'll give her five to 10 minutes to put the witnesses' names into the record, and if you would like to break for five or 10 minutes, we'll be back at 10 after 4:00.

Thank you very much.

--- Recess taken at 4:03 p.m.


--- On resuming at 4:11 p.m.


THE CHAIR:  Thank you.  Please be seated.
UNION GAS LIMITED - PANEL 2


Greg Tetreault^, Sworn


Wes Armstrong, Sworn


Jeff Hodgins, Sworn


THE CHAIR:  Mr. Smith.
Examination by Mr. Smith


MR. SMITH:  Thank you, members of the Board.  Maybe just before I begin, I can ask just by way of clarification.  I understand that we're going address the LPP issue.  I did have some limited examination-in-chief in respect of the cross bore issue, and while we may be putting that off until tomorrow, I believe we should have enough time before 4:30 that it may make some sense for me to ask those questions in examination-in-chief today --


MS. TAYLOR:  Mm-hm.

MR. SMITH:  -- potentially before Mr. Higgin does his cross-examination, so it's not disjointed.  I can just put the questions on the record.  I'm in your hands.  However you would like to proceed.

MS. TAYLOR:  I'm fine proceeding on that basis.  Thank you.  All right.  Go ahead.

MR. SMITH:  Mr. Tetreault, if I can just begin with you, sir, I understand that you are the manager of rates and pricing?

MR. TETREAULT:  Yes, I am.

MR. SMITH:  And that is a position that you have held since 2008?

MR. TETREAULT:  Yes.

MR. SMITH:  And I understand that prior to that you were the manager of gas management services?

MR. TETREAULT:  That's correct.

MR. SMITH:  And you have been with Union Gas since 1998?

MR. TETREAULT:  That's correct.

MR. SMITH:  I understand, sir, that you have an honours bachelor of commerce degree of finance from the University of Windsor?

MR. TETREAULT:  Yes, I do.

MR. SMITH:  Which you obtained in 1998?

MR. TETREAULT:  That's correct.

MR. SMITH:  And you also have a bachelor of arts and geography degree from that university, which you obtained in 1995?

MR. TETREAULT:  That's correct.

MR. SMITH:  And I understand that you have testified before the Board on at least fourth separate occasions?

MR. TETREAULT:  I have.

MR. SMITH:  And were you involved or responsible for the rate-related and cost allocation aspects of Union's pre-filed evidence?

MR. TETREAULT:  Yes, I was.

MR. SMITH:  And do you adopt that evidence for the purposes of testifying here today?

MR. TETREAULT:  I do.

MR. SMITH:  And, similarly, were you involved or responsible for rate-related and cost-allocation-related aspects of Union's -- sorry, answers to interrogatories in respect of that evidence?

MR. TETREAULT:  Yes.

MR. SMITH:  And do you adopt that for the purposes of testifying today?

MR. TETREAULT:  Yes, I do.

MR. SMITH:  Thank you.

Mr. Armstrong, I understand that you are the director of distribution operations for Union Gas?

MR. ARMSTRONG:  That's correct.

MR. SMITH:  And you have been with Union Gas since about 1997?

MR. ARMSTRONG:  That's correct.

MR. SMITH:  And is that primarily in an operations capacity?

MR. ARMSTRONG:  Yes, it has been.

MR. SMITH:  And you have a bachelor of engineering science, civil from the University of Western Ontario; is that correct?

MS. ARMSTRONG:  That's correct.

MR. SMITH:  And you obtained that in about 1995?

MS. ARMSTRONG:  Correct.

MR. SMITH:  And are you a professional engineer?

MR. ARMSTRONG:  Yes, I am.

MR. SMITH:  And I understand that you have a diploma from Fanshawe College that you received in 1990?

MR. ARMSTRONG:  That's correct.

MR. SMITH:  Were you involved or responsible for the preparation of Union's evidence in relation to the cross bore safety issue?

MR. ARMSTRONG:  Yes, I was.

MR. SMITH:  And do you adopt that evidence for the purposes of testifying today?

MR. ARMSTRONG:  Yes, I do.

MR. SMITH:  And, similarly, were you involved in the preparation of answers to interrogatories in respect of that evidence?

MR. ARMSTRONG:  Yes, I was.

MR. SMITH:  And do you adopt those answers for the purposes of testifying today?

MR. ARMSTRONG:  I do.

MR. SMITH:  Finally, Mr. Hodgins, I understand that you are the manager of Union's cross bore program?

MR. HODGINS:  That's correct.

MR. SMITH:  And that's a position, as I understand it, you assumed in 2010?

MR. HODGINS:  Yes.

MR. SMITH:  And that was on the initiation of the development of Union's cross bore program?

MR. HODGINS:  That's correct.

MR. SMITH:  And prior to that, you worked as a manager of distribution operations support?

MR. HODGINS:  Yes.

MR. SMITH:  From about 2008?

MR. HODGINS:  Yes.

MR. SMITH:  And I understand that you've been with Union Gas since 1993?

MR. HODGINS:  Correct.

MR. SMITH:  And that you hold an MBA from Lansbridge University, which you obtained in 2007?

MR. HODGINS:  That's correct.

MR. SMITH:  And that you have a bachelor of commerce from the University of Windsor which you obtained in 1990?

MR. HODGINS:  Yes.

MR. SMITH:  I understand this is the first time you've testified before the Board?

MR. HODGINS:  It is.

MR. SMITH:  And that goes equally for you, Mr. Armstrong?

MR. ARMSTRONG:  It is, yes.

MR. SMITH:  And were you involved, Mr. Hodgins, in the preparation of evidence with respect to the cross bore safety issue?

MR. HODGINS:  Yes, I was.

MR. SMITH:  And do you adopt that evidence for the purposes of testifying today?

MR. HODGINS:  Yes, I do.

MR. SMITH:  And, equally, were you involved in the preparation of answers to interrogatories in respect of that evidence?

MR. HODGINS:  Yes.

MR. SMITH:  And do you adopt that for the purposes of testifying today?

MR. HODGINS:  Yes, I do.

MR. SMITH:  Thank you.  Just a few questions, if I may, in relation to the cross bore safety issue, beginning first with this question:  What is a cross bore?

MR. HODGINS:  A cross bore is an unintended intersection of two underground utilities caused by the use of trenchless technology.

MR. SMITH:  And as it relates to Union, what is a cross bore?

MR. HODGINS:  As it relates to Union, we are concerned with the intersection of natural gas lines and sewer lines.

MR. SMITH:  And what is the safety issue related to that?

MR. HODGINS:  The safety issue with regards to a natural gas line intersecting a sewer line is if that sewer becomes blocked for whatever reason, and that line is cleared with mechanical equipment or water-jetting equipment, and the natural gas line being damaged, creating a safety concern for us.

MR. SMITH:  Okay.  And how did this safety issue come to Union's attention?

MR. HODGINS:  The safety issue came to Union's attention through the industry, the CGA, and our partners at Enbridge Gas.

MR. SMITH:  Okay.  And what was brought to your attention?

MR. HODGINS:  It was brought to our attention that there was occurrences of safety issues in the United States, to start with, related to cross bores.  And, furthermore, Enbridge had an incident themselves, serious safety incident themselves.

MR. SMITH:  When we're talking -- let's just put some meat on the bones.  When we're talking the safety issue and they had an incident, what are you talking about?

MR. HODGINS:  Well, in the US, there was a number of explosions over the past few years, and the same within Enbridge, as well, at one of their sister companies in the US.

MR. SMITH:  Okay.  And what has been Union's response to that?

MR. HODGINS:  Union's response has been participation in a Canadian Gas Association task force team to develop a white paper on the best practices and on the issue, and, also, on the development and implementation of our own program.

MR. SMITH:  Okay.  And can you describe this program for the Board at a high level?

MR. HODGINS:  Sure.  Really, the program has four components, the way we have broken it down.  The first component is what we call a sewer safety inspection, which is a response to a blocked sewer call and us sending out a locate service provider to do a gas locate and a sewer locate prior to that blocked sewer being cleared, to make sure there is no cross bore.

The second component we call our sewer safety investigation program, and this is our proactive search through video cameraing sewer lines in our franchise area of legacy cross bores or where there may be cross bores that could exist.

The third component is changes to our new construction procedures when we're using trenchless technology to mitigate the risk of creating more cross bores.

And the fourth component is education and awareness, both internally at our company and externally to municipalities and issued to stakeholders and our customers.

MR. SMITH:  Thank you.  At Exhibit B5.2, you were asked an interrogatory with respect to your cross bore safety program.  And prior to today, shortly before today's proceeding, Union caused to be circulated a document entitled "Union Gas Limited Cross Bore Safety Program".

Can you just describe this document for the Board?

MR. HODGINS:  Yes.  That document is our submission to the TSSA in early November, based on their directors' order, of our program, so it's an overview of our program.

MR. SMITH:  And how does that relate to the action plan referred to in that interrogatory?

MR. HODGINS:  We are currently working on an action plan for the TSSA, as well.

MR. SMITH:  Now, one final question.

How, sir, does the cross bore program differ, if at all, from the locate work that Union has done historically?

MR. ARMSTRONG:  Maybe I can take that one.

So we have had an active damage prevention program for a number of years.  We provide excavation locates.  So essentially, excavators, the public and homeowners, I think they all know that they need to call before they dig, and we will provide an excavation locate to allow that to happen.

The way this difference is, is really now we need them to call before they clear a blocked sewer.  So they know enough to call before you dig.  But we need them to know -- to call before they clear a sewer.  And actually, one US company has coined that phrase in support of their cross bore program, is to "call before you clear."

So that's how that differs.

MR. SMITH:  Members of the Panel, just before I tender the witnesses for cross-examination, perhaps I could just have the cross bore safety program document marked as the next exhibit.

MS. SEBALJ:  We'll mark it as K1.2.

EXHIBIT NO. K1.2:  CROSS BORE SAFETY PROGRAM DOCUMENT.

MS. SEBALJ:  Panel, do you have copies?

MS. HARE:  No.  Thank you.

MR. SMITH:  Thank you.  Those are my questions.

MS. TAYLOR:  Thank you very much.

Will the panel consider Dr. Higgin's question now?  Mr. Smith?
Cross-Examination by Dr. Higgin:


DR. HIGGIN:  Mr. Smith, is this panel ready to answer questions --


MR. SMITH:  Yes, certainly.

DR. HIGGIN:  -- on Issue 12.  Okay.

Good afternoon.  My name is Roger Higgin.  I'm consultant to Energy Probe.

So your counsel, having raised anticipations that we were now going to talk about cross bores, now for the anticlimax.  We're now going to talk about Issue 12.

Issue 12 on the list is as follows:

"Are the proposed changes to the wording for the late payment penalty policy in Union's rate schedules and customer bills appropriate?"

So could you turn up one of our interrogatories?  It's Energy Probe Interrogatory B5.6.

MR. TETRAULT:  I have it.

DR. HIGGIN:  Thank you.  So this interrogatory actually references your evidence to Exhibit A, tab 1, page 17, paragraph 7.

MR. TETRAULT:  That's correct.

DR. HIGGIN:  So could we just look at part (c) of your response.  It just says:
"There has been no change to Union's late payment policy or rate and therefore no impact on the actual late payment revenue forecast."

MR. TETRAULT:  That's correct.

DR. HIGGIN:  Correct?

So it goes on to say:

"It's a wording change and it was made because the annual effective rate will vary, depending on the timing of the customer's payment, and therefore might not equal 19.56 percent."

And the updated wording provides more clarity on the per-annum effective rate.  That's the answer?

MR. TETREAULT:  That's correct.

DR. HIGGIN:  Okay.  Now, so first of all, can you confirm that Union is still proposing a change in the wording for the late payment provision?

This proposed change, as I understand it, is to reflect a nominal rate of 18 percent per annum, compounded monthly.

MR. TETRAULT:  That's correct, and yes, that is still our position in this proceeding.

DR. HIGGIN:  So first of all, can you confirm what rate is being used now, in the interim rate order of December 2, 2011?

For example, if you look at rate M2, if I could take you to the rate schedule, and at section E, it would list the delayed payment provision.

MR. TETRAULT:  Yes.  The interest rate that is currently in place is still the Board-approved percentage of 1.5 percent per month.

DR. HIGGIN:  Now, you said "Board-approved"?  When?  Approved in the interim rate order?

MR. TETRAULT:  Yes, I guess -- let me clarify.  There has been no change to the interest rate applied to late payments effective January 2012.

DR. HIGGIN:  Okay.  Thank you.  That's a good clarification.

Now, by the way, do you know what rate Enbridge is currently using in their 2012 interim rate order?

For example, I could give you the reference, which would be, for example, the rate handbook, section F, page 6.  Do you know what rate they're using?

MR. TETRAULT:  I don't offhand.  I would imagine it is the same rate as Union Gas, but I don't have their handbook reference.

DR. HIGGIN:  So would you take it, subject to confirmation, that that is the case?

MR. TETRAULT:  Yes.

DR. HIGGIN:  That Enbridge's rate schedule currently in the interim rate order for 2012 shows 19.56 percent effectively per annum?  And that's the same wording as yours; correct?

MR. TETRAULT:  I can accept that, yes.

DR. HIGGIN:  Thank you.

So can you tell me, then, if there's an actual methodological difference between your proposal of 18 percent and 19.56 percent, effective, per annum?

MR. TETRAULT:  There is no change to the application of the interest rate in terms of Union's calculation of late payment fees.  There's no methodology change.

DR. HIGGIN:  And then, additionally, under GDAR, the Gas Distribution Access Rule, the Board issued a new version of that on October the 14th, 2011; is that correct?

MR. TETRAULT:  That's correct.

DR. HIGGIN:  And in that, did the Board say anything specifically about this issue and the effective interest rate for late payments?

MR. TETRAULT:  That was not a proceeding that I was close to, but not to my -- not to my best knowledge.

DR. HIGGIN:  Okay.  So can you tell me, then, exactly why Union is proposing that the proposed wording change, which is to reflect a "nominal rate of 18 percent per annum compounded monthly"?

MR. TETRAULT:  What we're truly trying to do is bring more clarity to the rate schedule and to customer bills than is currently there now.  By showing the nominal interest rate, annual interest rate, of 18 percent, and then reflecting the facts the compounded monthly, we feel that is more accurate than the current language we have, both on rate schedules and on customer bills.

DR. HIGGIN:  So did you, in making that decision, solicit customers' views as to that clarity?  Was it better, the 19.56 effective per annum?  Did you solicit customers' views on that?

MR. TETRAULT:  Not to my knowledge.

DR. HIGGIN:  Okay.  What about a customer that has accounts both with you and with Enbridge, and therefore there will be two different wordings on the two different bills that that customer would have?  Let's say it could be a franchise or other type of customer that has facilities and takes service from both Enbridge and Union.

There would be a difference if your proposal is agreed to and approved by the Board; correct?

MR. TETRAULT:  Yes, that's correct.  There may be a difference in language on both rate schedules or rate handbooks, as well as customer bills.

DR. HIGGIN:  Do you not agree that it would be in customers' best interest to harmonize that wording so there would not be any confusion of that type?

MR. TETRAULT:  I can't necessarily speak to how many customers there may be across the two franchises that are comparing one bill to the other.  I'm just not familiar with who those customers may be.

But I can say that Union's position and the language we put forward was language we felt was appropriate to really recognize what the annual interest rates are, to bring that clarity to both the rate schedules and to customer bills.

DR. HIGGIN:  Did you discuss that directly with Enbridge?  That is, the difference and the potential for harmonization?

MR. TETRAULT:  I did not have any discussions with Enbridge on this matter.

DR. HIGGIN:  Okay.  Thank you very much.

That's all my questions, Madam Chair.  Thank you.

MS. TAYLOR:  Thank you very much, Dr. Higgin.

Do you have any redirect?

MR. SMITH:  I have no re-examination.

MS. TAYLOR:  Well, it's 4:30.  I suggest we break for the evening and reconvene at 9:30 in the morning to hear the cross bore issue.

MR. SMITH:  Members of the Panel, just before we break, because it will be relevant to my evening and morning, I wanted to address the issue of argument and how the Panel would prefer that we proceed with argument.

MS. TAYLOR:  Well, I think the Panel would prefer to hear your argument-in-chief orally tomorrow, given that we'll be reconvening.  It's unclear to me whether the parties and Board Staff will be ready to provide their submissions tomorrow.

So at this point, I think we can leave it to hear your argument-in-chief, and maybe I'll take a quick poll to see whether anyone else would like to present orally tomorrow.  Mr. Thompson?

MR. THOMPSON:  Sure.  Why not?

MS. TAYLOR:  Okay.

MS. HARE:  Does that presuppose that you'll get the undertaking response, though?

MS. TAYLOR:  Yes.

MS. HARE:  Yes?

MR. SMITH:  Then that should be fine.

MS. TAYLOR:  Okay.  Mr. Quinn?

MR. BRETT:  Did you wish other people to give you their opinions now or tomorrow morning?  My preference would be to submit a written argument.

MR. QUINN:  Yes, Madam Chair.  Ours would be the same, to submit written argument, if that would be possible.  Thank you.

MS. TAYLOR:  Okay.

MR. GRUENBAUER:  Same here, Madam Chair.  And, unfortunately, I have to excuse myself.  I won't actually be here tomorrow.  I've got a medical appointment to deal with, so my preference would be written argument.  Thank you.

MS. TAYLOR:  And Dr. Quinn -- sorry, Mr. Quinn.

DR. HIGGIN:  Mine doesn't seem to be working.  I think we would prefer written argument.  We haven't heard all the cross-examination, and so on, on the cross bore issue, so we would prefer written argument, thank you.

MS. TAYLOR:  So I think we will proceed --


MR. THOMPSON:  I was just going say, Madam Chair, if everybody else is written, then I'll go written, as well.

MS. TAYLOR:  So I think, Mr. Smith, if you would like to present your argument-in-chief orally tomorrow, and then we'll leave it for submissions to be filed in writing at a date that -- we'll lay out the schedule tomorrow.

MR. SMITH:  Very good.  Thank you.

MS. TAYLOR:  Okay.  Thank you very much.


--- Whereupon the hearing adjourned at 4:33 p.m.
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